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Addal247

Yo Ut SIS (RRB) SRREE el UIITC UGIITST RRB ALP HR<iT 2024 13T 31Ridrd davgear Sfexid sHid CEN
01/2024 R Ju=NTaR 31 3ifeRgemT UHIRIG FHeit 3], ALP UGTITS! STER dbaied UHUT Rad Ueil TRedT 5696
3Te.

RRB ALP “Rdl 2024: fagmasie

Uar 3R Al UrIde ST =

BICRERREAN g0 HRA

RRB ALP S{TERgTHT 2024 YDA 19 SHART 2024

351 HRUGTY FHaTd 20 SHART 2024

3! HRUGRATST 2dcl dRIG 19 ThgaRl 2024

3fiTd IG@ fohal GOl HR0! 20 AR to 29 ThgaRT 2024

THUT Rad Ug 5696

3ol BRUTTE Ugd CIEEE|

JAHIIGT (01/07/2024) 18 9 to 30 9Y

RNefOrw e 3BTl / e SsHe STIdIemy/3ide 3Mfegiy

ga goft RIS

JTPH S A-1

Joardrd aad ¥. 19900

\’Aﬁfﬁ Joh RIS www.indianrailways.gov.in
RRB ALP RRadqugial oo

CL e gi=it Wemn

2014 18560

2018 17673

2024 5696

ALP (Assistant Loco Pilot)

RRB ALP Rl 2024 f¥ad ug Technician CBT 1+2
RRB ALP WGRITET e SR 2024 YA S B
RRB W&zl e uei=h Sem @ Vo ¥
SHEHATETE 238 B B B 5eS
TR 228 Starts: 29 Jan |10 am = 6 pm
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RRB ALP Y=g et ST 2024
RRB Wz e ugiaht wen
CRCTSY 473
TS 284
YRR 280
faergQR 1316
EIRIrS 66
EPES 148
TRER 43
IGIEC] 62
O SR 39
HoDhl 345
HGal 217
BCH 547
TIFRR 38
geT 38
TINRIS 286
NE]] 153
[SELREIH 758
GRS 67
e dqRe 70
TR 5696

RRB ALP A& aui<T ®¢ 3P

RRB ALP &¢ 3% 2018 [Abhd]

RRB HTH= 3rSTT 3o ELIC
3gHaIETG 43.47 35.15 32.17 28.15
3SR 53.13 44.09 37.88 26.47
X IHEI 42.75 34.85 30.78 25.02
CUCTS 45.46 38.05 30.25 25.02
YR 40 - 30.01 25.02
EPES 51.65 30.36 NEC NEC
EPES 47.93 45.83 39.89 26.7
TaTgret 40.92 33.16 30.05 25.39
0 3101 HTIRAR 40 32.76 30.05 25.02
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RRB T 3T e B
FHoHl 43.85 30.01 30.02 25.02
FHoDHl 4133 34.2 4737 NEC
BiCE] 44.89 40.08 35.74 25.48
TG 42.13 34.14 NEC NEC
TP 40 30.02 30.01 25.03
Y 48.6 NEC NEC NEC
ycr 47 41 39.88 30.27 25.75
fRidemaTg 49.56 42.49 38.09 33.71
fRidemaTg 40.01 30.02 30.29 NEC
GRS 40 30.01 30.05 25.06
[RISEREERT 5524 47.48 3133 25.02
[REGERELE 40.97 30.58 NEC NEC
RRB ALP &¢ 3T 2018 [sofR®e]
RRB AT 35T 3o SHI
3SR NEC NEC NEC 30.48
HoDHl 61/06 49.39 45.94 55.67
TIFRYR 50.55 36.99 27.03 4161
ISR 48.68 36.57 27.54 4458
SR 47.34 38.35 27.54 41.99
ISETREIH 4339 30.01 27.68 31.85
LA 53.13 40.31 32.29 45.62
CEEGN 50.75 40.64 29.7 45.85
RRB ALP ¢ 3% 2018 W 2
RRB AT 3T 3 ELIC
SGHGTEIG 69.44 61.40 51.89 64.49
SBTETSTG(NCR) 75.19 66.86 58.95 72.10
SBTETSTG(NR) 75.04 65.83 55.27 70.87
EUCTS 72.64 60.82 54.06 69.13
HIYTS (WCR) 76.74 68.20 65.60 73.69
TS (WR) 75.27 66.94 63.54 73.13
CEET 72.49 60.44 57.91 68.19
fIOMIGR (SECR) 73.56 62.58 59.83 70.21
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RRB A= 3T 3 ELIC
fSONGR (CR) 72.46 62.27 57.12 70.38
EIRICS 73.85 63.78 4781 68.20
EPES 72.26 63.62 49.18 69.73
ICIEG 66.90 52.74 47.56 60.80
S STFOT HTIRER 67.18 49.03 39.73 62.00

RRB ALP HYd! 2024 UGl Aoy

ST TG HeITIHT RRB ALP Ui 2024 13T SHTa=AH UEdT Hy Tet quRiiaar fad 3ied.
RRB ALP HXdl 2024: ANTR® @

SUGAR WOIS Udh! HIVATG] THT ST ARG STal: A
! mm RAILWAY
3. YT ARG MAHAPACK
4. 01.01.1962 df HRATd 3fTeran fasdt Faffd, RRB ALP, RPF Constable,
RRB ALP U<l 2024 gaiHaier (01/07/2024) i NTPCC’;zﬁFF, g’ R
fPuau | FUTG 9T
18 aY 30 99 Selection ka Sathi
RRB ALP &ifore 3rgar

uera A9 | Refore ardar

e / NCVT/SCVT =T AT SRYTHYT 3MTHR 3T higet Aigsx / S IRIG / Saidel-ag
Tt / fthex / gle 3 / gRghe Adbf e / Adiife / e 3 / AbiHe Hier g /
fAreRTSe U= Bbd / AdhiAe Clat / IR S0l TSR HISIT A / Taex AhiAd /
TR / IRRET A1 ¢S AL SSLC, ITI S0l HoaT SHGAR

foar

IEal e / THUaUEH), R TS e TSHE 31 Uf dhatell RIS IHedR

Urdc m

O Mo a/Zalaedhd/Sade -/ CHaTsd SoMISITa 3 guidT fSWMT Sl 3oeT SHeEAR
fobar

ITI TaoTt AT SR a1 it rae [afdy yargid JaeH ool SHadR

R TG aied] IS I Ugd! SR SHGAR ¢l 3ol dHee Jdbard.

RRB ALP HRdl 2024 3@ 1 dgowil

3P FRYETIR IACAR dgH el deadHd AFG A-1 I8 flhe 3ya UIfgeld. ALP UerIdt 3ram fadrar
FIDH IS AT e IHGART Faidt fFged fIwumR A,
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RRB ALP Rt 2024 3t (0@

o 3 AP
HHTY (Y2H) . 500/-
TS, 31, 3Tl HTol S/ () . 250/-
SIS, 319, Y, 31ST/ Aol Afd/feaai @fesl/ qaadd) 3. 250/-
RRB ALP a4+ 2024

RRB 3ifIe @] UIdCe (ALP) & Td Hxl SO HUTT A SR fhBRIariR WIR fiesdl. RRB ALP @
T a9 Y ATOT UG %, 19,000 o ¥, 35,000 T T8, IHGARMT 7 T CPC fciid Wk 2 Sfaifd U ot
STt

1. HEGRTTS T (DA)

2. IRYUTS HAT (HRA)

3. I8P M (TA)

4. JaTE HT (VAT hetedT fhHTar Samia)

5. I U=RM AISHT (10% HUTd) .

RRB ALP 43dl 2024 fAas ufsear
YT e APp! UdC (ALP) TT3T FaS Ufchar ura TaRiar STeTid 31Tg:-

1 CBT %W | (FHRIAD T[UNH Ugd)

2 | CBT W Il (FHRIEHD TUliH Ugial)

3 | - ST ST ATl (RRIES qUlie dgd 6]
4 | PNIGUA USdTSUil

5 | JeeTd arEvi

RRB ALP 3ORIpH 31T qia Ta=u 2024

RRB ALP CBT 1 f&har @« 1 wdig @&y

- CBT 181 CBT 2 1ol Masdicl SHGARINTA! Udh ThIf-TT URTE&T 3T,

- TRHUT 75 SEUTT Ui WA 75 NS f[aaRel S d Tddb UHHTe! Tah 0T 3.
« AT TS SRt SR 9 60 et a1

« U TP AT STRITST 1/3 T AT ™ THRIHD HITBIT 3.

- CBT 1 ° 707 3{fqd MTemaa! Aisidl SUIR g,
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- T TS TrRT TIOTE, ATHA iAo 3Nf0T ah, T fa= S11fo1 91 sSmie d! Wy Sufld arrét RRB ALP
CBT 1 fdhal € 1 URi&d WFY U & 3Te.

fawg Uy =T T Prarast
7forg 20 20
AFRI® &HdT 25 25
60 fHfe
= fage 20 20
I Sl 10 10
THUI 75 75

CBT 1 TI&TS} RRB ALP 33ITIHY 2024
fawg

ki
:
!

4

3quifes

BODMAS

Fqifa 31for FaTdt
TUIR 3107 HTOT
TIHARY

A

J 31107 H1H

95 3fOT 3R

e SHTTOT TIshdTe TSl
%1 SfOT dreT
UG
eyt smfor oo
UTifires giRkeTe!
TS

g IO

Hal g 3T TSI

sy 31T eTeht 3

NESELR

ICEGRYIRAE
[ERIIRER

faerm, gfadare Sfor Tetdab
Fifferor

JHHAT HT0T TR

4 STl

ey 3nfor fAofa oot

qufaTaT 3for e ArfersT

AFRI® &Hdl
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fawa TR
o TIOMCT TR
o Ty
. Rraform
o ST 3R SO yafear
. Mifdmzrd
= fag= o ORRA
o« 109 3T UGS Sitg fage
o ICHRU
o IfEE
o TG YSME!
o Hgw@rel kit
o fagm effor o
« IR A favg
RRB ¥ 1 eifu® JIR fazeuor
T ® Sifaan e quiear tRas ferRae vy "=
DI 2
UM 2
3 ATfoDT 4
CEEILEDE] 3
T el 1
I 3
Il STfOT 3R 2
ST 1
TR 2
CI| 1
5 30T CTeh! 1
o 31for g 1
GEZEIC]| i He
gfaqarg 3T Tgids 2
REREE] 4
97 St 1
i1 2
Tt Wi 2
IBRISED] 1
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318 9 3¢

TS 3MTfoT b

3MTpiIHE TGTes ShHich

ICEURIREGN

N = I O ) (RS Wy R W R G e e T Y

Ui =T

HHTY SR dl

U=

EIMESLIS

sfagr

Wi oilcs

iU

—_ [ = [ 00

RRB ALP CBT 2 fhda1 @& 2 tfig W@y

RRB W 2 2 HRTHY faHTTAT STSd, HIT A SITOT HIT B.

o 2 30 i Sremadiag THUr 175 Uy, URT A: 90 AT 3for 100 U, WRT B: 60 fAfAC 3M1f0r 75 vy,

o U g IAT STRNIST 1/3 T b PRI AT 3.

o U&ld TWHUd! JUGARAl HaSdl ddw UFT A g9 fferd U Aied Sl
T A A TIOI, Herud fasm sifon sifaifes, T g snfdr dd amig diF fawa sed SHfr 4iT B
e Heflra T Aefie Ui THER SR, HFT A 311701 YR B WS UheR Wy @l fod 3. Sheari- 3y

TG S qURITT TUTHO STa=AD 315, YD THRTS! 1 70T Sl

RRB ALP CBT ¥ 2 HTT A 9131 U3aR =g

fowg uy Pramast
I i 3for adb
TTfora 100 90 Minutes
gAY fasm snfor siftrifet

RRB ALP CBT &S 2 HTTT B HT3] T &R WU
Jefdd cs 75 60 e
THUI 175 2 a9 30 fafare
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CBT 2 TI&TS! RRB ALP 33ITIHY 2024

fawg

ST hH

i, e gfarr

3for ah

CBT 1 913! RRB ALP 3{*ITEhHTIHTUR

Hed

fagm  enfor

sifrifent

o SYTIRE®! Y@ (AT, TR, T e, Y, HiffideD e,

ufdeTds Ul siatid gafay fawg

ey
HioETg

I, TS ATOT T
BT e SATOT St

3T 3IfoT 9T
RLUGIEIUGISEIGH

A it

TiegR SATfor Trelt w=iA
TG Y& ST 3R
TgiaRur fRrefor

ST WIERT 3

ENIESCaUNcE]

e, B

Afe=

AH-Tel HieR Yorret

bR, Jdbd

T faggd yomat
RiTTa oot Aied

o, @ 311t gafdcdha HaRH

IfRex

Y
fefred saaea

Feafdh 3nfor Sienfiie gaaei -y
ENCHIECRCH

IJH-Heaer Hifdmaa

difed Mg FRgFd Rew
[P

TATUTS STTOT AT TR

O fegmeA

guret Rigid

IC gfSH

RLUGIRESIGRY

YA ST T

SRS CRURESIE]]
UTaR Wic edig AT S1aer
YTIHH I dAH

TR
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Sl wae
TTRITY
IS Hb T

GO - ST ST aravft

U BIUgTTa! SACARAT Ui aroiyed fam 42 701 fiesdut Jaxad 3. ALP UG a1} hdw SHfargdr
Traufid U 3XciedT SHEARMYT Hled Sed, SMed CBT =01 gu=dT <uTdid HIT A A&l fasTeied o1 70%
ST ATIOT TUIh S1eiRd SifAaaar areoiHed fieTeiedT UMHT 30% deol fad Ssa.

A A
RAILWAY
ALP (Assistant Loco Pilot) MAHAPACK

Technician CBT 1+2 RRB ALP. RPF Constable,
RRB NTPC, RPF SI, Railways
Group D

Selection ka Sathi
Starts: 29 Jan' |10 am - 6 pm
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Adda

RAILWAY RECRUITMENT BOARDS
Yo arclt 1S

e

7

RRB ALP & TECHNICIANS 2018

[Roll No:

Participants Name:

Test Center Name: [iON Digital Zone iDZ 1 Hathipur
Test Date: 09/08/2018

Test Time: 10:00 AM - 11:00 AM

Subject: IALP Technicians

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 fr v Reedt @, e BT & gae v w9 F7 T3 Fl

Image
Options
S
AN || Ve
- LYy
ERY7AN

A B C D

Question ID : 9864494012
Status : Answered
Chosen Option : 3

From the options given, select the rotated version of the following image.

Image

Options

el

A B < D
Ans X1C

X 2B

v3D

X4 A

42 gfeRrr frow.3ns. SFE &

The SI unit of resistance is:

Ans FolFg
Ko

Coulomb

Question ID : 9864493065
Status : Answered
Chosen Option : 3




T
X4 "
Joule

Q3 FFRIA® =0T T T # ¥ raer & foer & g @ar &7

Ans

Negative acceleration is in the opposite direction of:

(1.a-ﬂ

velocity

distance

Question ID : 9864493580
Status : Answered
Chosen Option : 1

Q.4

Ans

1kWh =72

K 1.36%X107°]
X 236x10%]
X 336%X107¢]
v 4 3.6x10°]

Question ID : 9864493521
Status : Answered
Chosen Option : 3

Q.5

HFeen FET & el of 7 fAread 7§ FiF ar dfew a= E
Which of the following is the last element in Newlands Law of Octaves classification?

Question ID : 9864493353
Status : Not Attempted and

Ans m Marked For Review
x 1. Chosen Option : --
Radium
X2 S
Iron
W 3 :
Thorium
X 4
Rhodium
Q.6 s HEfE HY & TR (FIE 2018 & HJEN) TeUET i g2

Ans

Who is the current (as of February 2018) President of the Indian Olympic Association?
X1 st T
Abhinav Bindra
TR
Narinder Dhruv Batra
3. WE TR
Sharad Pawar
, I T
Prannoy Roy

v

x

Question ID : 9864492330

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.7

frafof@a # @ #ia & ve SR semr @
Which of the following is not a Triangular number?

Question ID : 9864492623
Status : Marked For Review
Chosen Option :1




Ans X1_ 3
V215
<310
X a5

Q8 gy Y sehfeier st & e W #ig o 3w Seet &2
‘Which gas is released when water is added to bleaching powder?

Ans ARG
Ko

Oxygen

Farl=T

Chlorine

RESED

.Hydrogen
X s FTET IS HFATSS

Carbon dioxide

v 2

K3

Question ID : 9864493550
Status : Answered
Chosen Option :1

O R aTslaT D

Which of the following is true?
Al ; 29 43
ns « g =2 } 23
6 12
29 43
Ko —< =
6 12
29 53
3. —= —
6 12
29 43
Xa2_n
6 12

Question ID : 9864492482
Status : Answered
Chosen Option :1

Q.10 Fr=faf@a aer #, v e (7) @ @ mr 9g sequitya & 1 Re
T fashet § ST 9g T H

ST, TU,UV,VW,?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.

ST, TU, UV, VW, ?

ans o/ WX
X2 WV
X5 WY
X« WZ

Question ID : 9864494171
Status : Answered
Chosen Option : 1

QM o, 3 AT %W & @ v e F Al TGN T B FF F A9 e,
I F S 07 3R A9 37 e gaml Il H fraer sr ued gam?

Tapas. Avi and Rishi shared a cake. Tapas had % of it, Rishi had § of it and Avi had the
rest. What was Avi’s share of the cake?

2
p -
6

Ans

1

Vo =

< 3.

il W oy

Question ID : 9864492641
Status : Answered
Chosen Option : 2




3
p
6

Q12 frzy 7 W o TET 1 A T SR T g
‘Which of the following numbers will have an irrational square root?
ans X'1.1024
v 22048
X 5 2401
x4 4096

Question ID :

Status
Chosen Option

9864492843

:Marked For Review
12

Q.13 37 Tome A ST & e e e
Asexual reproduction differs from sexual reproduction in that in asexual reproduction,

Ans " GIH o ! HT Hord BT ¢ |

the nuclei of gametes fuse
Ftelel H JIHAF ST g & |

the gametes are produced in reproduction

v &)
AT ST Ak ATT-Rar F FAT AT 2

the new organisms are genetically identical to the parent
x4 For fafererarsit #r gaTar g

the offspring shows variations

K2

Question ID
Status

Chosen Option :

19864493138
:Not Attempted and

Marked For Review

Q14 gu 1w Al & FHg F [T Fa¥ 39gFd A6 I

Q@b

Select the most appropriate term for the following set of items.

QP

F R

Books
R

X2 el
Marriage

3

. Celebration

e}
K 4
Meeting

An

Question ID :
Status :
Chosen Option :

9864494232
Answered
3

Q.15 9 5% aTf¥e FURTT =TT 9T HIS A6 a¥ 3 T 942 @7 T &1 3 er & forar
a7 Fger o= ar?

At 9.5% simple interest per annum a sum of money became ¥ 942 in 6 years. The sum
initially invested was:

Ans X 1. 675

Question ID : 9864493008
Status : Answered

Chosen Option :2




~< 23626
v 3 ¥ 600
X 4% 650

Q1 =1 STST F WadH FITET &
The reflector of a search light is a:
Ans
1 JIATRT 0T
cylindrical mirror
X2 SeaTel ZY0T
convex mirror
W 3 E :
concave mirror
, T quT

plane mirror

x

Question ID : 9864493583
Status : Answered
Chosen Option : 2

Q17 Yaferr F Az gew Red T g &, = H 9 AT
Nodes of Ranvier are microscopic gaps found within:
Ans FlegleoTied
Ko =
chondroblasts
x 2 TITey ifarepratt
gland cells
e seaey
X3 AN
osteoblasts

g ;

myelinated axons

Question ID : 9864493135

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.18 3AT 3T arfa=rer =¥ FAT: ¥ 10,000 AN ¥ 15,000 & 4w & T WHGHT Y&
&1, oiferet T HAEAT & FNT, HEART o 8 FEw aG 39T foawr ar| o
o= Tee aNE A8 & AT gl # e a7 arer st @ifge?

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000,
respectively but due to a financial emergency the latter had to withdraw his investment
after 8 months. In what ratio should the profit of the first twelve months be shared among

the duo?
Ans 1.2 : 3
w211
K33:2
K412

Question ID : 9864492905
Status : Answered
Chosen Option : 2

Q.19 Tr=fafle # & fre H#f@fR gamn s=2 wlafk ar aget &1 Treme
grer &2

By which of the following processes are metals of high reactivity extracted from purified
molten ore?

” 39Fd Tl AN HOEa

1.
Reduction by an appropriate reducing agent
AfEear
Roasting

Ans

K2

Question ID : 9864493432
Status : Answered
Chosen Option : 3




CEEHIIRE

Electrolysis

X 4 St

Calcination

" £

Q.20 537 RFed &1 9Ua L off dRR & 3 A oiE w9 § O oie ona me

gl o & weEfad & Question ID : 9864494154
Status : Answered

B W
(:‘2%3}, ‘? g:? Chosen Option : 4

Select the option that is related to the third figure in the same way as the second figure is
related to the first figure

Ans ‘ﬂ*q
o

Q.21 gr 3t & 97 TEA AT BIAT S 3HF il F UGS B AT AT
Find a two digit number which is exactly three times the product of its digits?

Question ID : 9864492444

Status : Answered
Ans 112 Chosen Option : 3

X 2 48
v 24
< 436

Q.22 wr=fr TR T ‘FeTRIaT FVEED:Y e
. %_?2018 ® eﬁr &= _— il Question ID : 9864492149

Status : Answered
Chosen Option : 4

As of February 2018, who owns the Kolkata-based IPL team ‘Kolkata Knight Riders’?

Head T

Ans

X2
Subrata Roy

, HAT @
Aamir Khan

3.
Sourav Ganguly
. AMETE Wl

o 4
Shah Rukh Khan

x

x

Q.23
Question ID : 9864493755

Status : Answered
Chosen Option : 4




fu T g2 eamde 9¢ AR Fand fF SO sl & ¥ foe Reefataa
Feell F § P =

FT X - 5 TH TEAT g7 X U adids S&m &

FUA:
1. X -15 &F quiie &
2. X -10 us faws quiies §

Consider the given question and decide which of the following statements 1s/are sufficient
to answer the question.

Is X - 5 even? X is a real number.

Statements:

1. X — 15 belongs to integer
2. X-101s an odd integer

Ans x1_
Fad FAT 1 TT § A9 hdel HAF 2 FIATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
X 2 gt w1 3T e 2 9T =567 §

Neither statement 1 nor 2 1s sufficient

3
Fael dUd 2 qAC ¢ SA9fd hdd U 1 Fyed §

Statement 2 alone is sufficient while statement 1 alone is insufficient
X 4 Fod 1 3R Fud 2 gt wareT §

Both statements 1 and 2 are sufficient

Q.24 form Wil Fe & Aran ¥ aid Ay Tferaw & a7 gt #F R
B o 7
By which legislation were India and Pakistan divided into two independent nations?

Ans Qg e Aefms 1947 oRTE

Question ID : 9864492091
Status : Answered

r 0
Pakistan Partition Act 1947

, g e Af=as 1947
Indian Partition Act 1947

s nifreae TEaaar sfRfEas 1947
Pakistan Independence Act 1947

" AR TEaIar FfRfETE 1947
Indian Independence Act 1947

x

Q.25 &3 arw Fuet @ @ Aifere 3y ol fifcie & sl ar @) s o & e (B SV R
&1 I AT I Ifeheh T ¥ 3T HLT § (F ¢) uestion 12

Status : Answered
Y- Chosen Option : 1

HETINT T FAGEAT FHcaTde d¢ @ ¢ ooy g aidgeh T $1 Al gor
It & Sffed TR & TR 3 Wl

oS
1. TSN 1 g [@hrE & Yerdiferar aelret anfge)
2. TER &I 34 SANGT F @R &1 AiRw SN oel & foe sie A
A IR
Consider the given statement true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:
The population in metro cities is increasing tremendously which leads to the shortage of
living space and a drop i living conditions of the people.

Conclusions:
1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.



Ans

1#Hﬁﬁh$&2aﬁﬁnwmﬁﬂ%|
Only conclusion 2 follows.

2%@ﬁﬁ%$ﬁ13ﬂﬁ@T$ﬁﬂ%l

Only conclusion 1 follows.

3_u—rra’H AR 7 &1 2 RO HLT B

x

v

x

Neither conclusion 1 nor 2 follows.
, T 1 5T 2 QT 1T A

Both conclusions 1 and 2 follow.

x

Q.26

fo=faf@a & & #ia 15376 &1 FHaT 2
‘Which of the numbers given below is the square root of 153767

Question ID : 9864492803
Status : Answered
Chosen Option : 1

Ans  of 1.124
X 2134
X 3122
X 4128
Q.27 TRl gior &Y o9 H R v omg & Hnr dfde @ S ¥, o 309 gaen

Ans

=T gdvr sfs &1 Tus feT?

HEALTHY

Select the option that depicts the correct mirror image of the given word when the mirror
1s placed horizontally below the word.

HEALTHY
X*YHTLAEH
X2YHTLA3H
X*YHTJA3IH
viHEVIL1LHA

Question ID : 9864494163
Status : Answered
Chosen Option : 3

Q.28

Ans

T aw Fre W faaR F 3 a7 F F A 90 e A ¥ Sl
FA H Jedieied ol

FU:
JTETIRT T PR F AT o= dIETI

FegAT:
(1) PRI AT & AW FT AHARS T § |
(1) =PrmeTd THT FEE T B

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:

(I)  Workshop updates teachers.
(I)  Workshops kill time.

1 Faer A () Hfea &
| Only assumption (II) 1s implicit.

Question ID : 9864494344
Status : Answered
Chosen Option : 4




ST (1) 3R (1) g & @fed @

Both assumptions (I) and (IT) are implicit.

a1 s (1) T (1) R ¥
Nerther assumption (I) nor (IT) 18 implicit.

| et s (1) @fed &

Only assumption (I) is implicit.

<2

x

v

Q29 77 s oftwy & F% 3Ry sEET H 3 gT A §, O FE w7 A=

‘When a number of resistors are connected in series in a circuit, the value of current:
Ans g\ﬁ_"-
F ! *A ¢
decreases
V2 UF &Y EaT &
remains the same
x 5, ol &
increases
X 4 3T g AT §
becomes half

Question ID : 9864493186
Status : Answered
Chosen Option : 2

Q.30 weh 3o 90T, Forer Brever oas £(T G ) &, H H AT (u = 4/3) & gaa ST
F1 53 3 U7 Y Blekel wiETS FAT 2RI

A convex mirror of focal length f (in air) is immersed in a liquid (1 = 4/3). The focal
length of the mirror in liquid will be:

Ans 1. (7/3)f

vof
X3 (4/3)f
X 4 (3/Df

Question ID : 9864493144

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.31 37 3eat-AFf (Answer Figure) FT =TI FT 3T &1 T WeA-HTHT (Problem
Figure) & e T & fare swaea g

Question ID : 9864494058
Status : Answered
Chosen Option : 3

Answer Figures

EARSEIE

A B C D
Select the Answer Figure that fits in the blank space in the given Problem Figure.

Problem Figure

oo

el
o] 2

Answer Figures

w6 ]x]

A B C D

Ans x1_c
< 2D
v A




X+ B

432 (NH,),S0, % & 3] & fraer wTAm] gt 22
How many atoms are present in a (NH4)>SO4 molecule?
Ans X114
K212
V315
K413

Question ID
Status
Chosen Option

19864493588
: Answered
12

Q.33 fy sgae 3 Aftae & & 3aT 2 &, & Aftae Ak A & e i 7
Hifew| RrrHER

If the difference between the mode and median is 2, then the difference between the
median and mean is: (in the given order)

Ans o 11
K22
X34
X43

Question ID
Status

Chosen Option :

19864492477
:Not Attempted and

Marked For Review

Q.34 & 3w Foer W FaR &1 3 aF w1 & & 7 qhuromst d ¥ Sa-dnd
T F eaEited BEl

YA

FUIEHE THITTE GarT Y Rl TRIT Fae0 AR, 39+ AT 1 A6 4,
FlEaE &l sus Hariet & sawer gidfn ag Fer arin

TAURO:

1. vl Qa9 391éAe S G A8 1@ igd|
2. TEAw AR 7 3w Wl

Consider the given argument and decide which of the given assumptions 1s/are mmplicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat®, keep your cities clean, started by the apartment
association didn’t bring much response from 1ts residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign

Ans v hael JaUROT 2 dfERd gl
1.
Only assumption 2 1s implicit.

A1 A & 2 sfafafed Tl

Neither 1 nor 2 1s implicit.

| 131 2 et e siaffed 8
Both 1 and 2 are implicit.

) hael AHIROT 1 3idfifed gl
Only assumption 1 1s implicit.

x

x

x

Question ID
Status
Chosen Option

19864494045
:Marked For Review
:3

Q35 FawT =t fFAE UEES & T H U AT S 87

Momentum is measured as the product of :
Ans

Question ID : 9864493179
Status : Answered

Chosen Option :1




| Geu 3R e
Mass and velocity

X o ST 3 @
Mass and force

x 5, G 3T Stsar
Mass and inertia

X 4 AT 3T Tator

Mass and acceleration

v

Q.36

T T R Rk T T A s s v = da
FeT T FueT 2T B

F9IT ABC & fhr Sdr @

EEH

1. F9 ABC & 75,000 F1g T 70/- Wiy 797 & fewma & &)
2. 3 % &9 H ABC ¥ U W IR 3G A& B

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at T 70/-.
2. ABC has no other products in the production line.

1.

Sﬁ?gmaﬁ#ﬁvmlmm%, FafF T2 35 qATT 8
2
1 alone is sufficient while 2 alone is not sufficient to answer the question.

K2
3T S99 3 % AT Fua 2 S THeT g, Fafh wUA 1 e JAeT 6T
gl
2 alone is sufficient while 1 alone is not sufficient to answer the question.

X3
3R Faw & F T T & FuaT 1T &2 94T g

Neither 1 nor 2 is sufficient to answer the question.

v 2
Fua 1 32 2 & 3RT s9w & ¥ v g EL

Both 1 and 2 are sufficient to answer the question.

Question ID : 9864494327
Status : Answered
Chosen Option : 1

Q.37

& AT E TS s TaE & OwE Fi g, S aoAT #
Ferg safer et s & fow g a1w §0

‘Who is the author of the book *The Association of Small Bombs®, which is currently
shortlisted for the International Dublin Literary Award?

o | T
Namitha Ghokhale
X2 eufa T
Armundhathi Roy
Fld Hglled
’ Karan Mahajan

Question ID : 9864492322
Status : Not Answered
Chosen Option : --




Udel T
W 4
Chetan Bhagat

Q.38 7 1600 1 TFEr W 6 AT Fr 3E@W F v, 5% ¥ AR a7 W 35T
== fepaar gEm?

The mterest earned on T 1,600 at the rate of 5% simple interest per annum for 6 years
would be:

Ans X1 T 496
v 2.3 480
X 3% 450
x 4% 2,080

Question ID : 9864492867
Status : Answered
Chosen Option :2

Q.39 fiFa v # W 39geEa fawed oy |
2 ot formet ot & Rfie s Sutem A A E I ¥ wafw
g
Fill in the blank with the most appropriate option.
Plants that do not have a differentiated plant body belong to the group 4

Ans x1_ﬂmﬂﬂm

Phanerogams

Pteridophyta
: E
Bryophyta
W 4 E

Thallophyta

K2

X3

Question ID : 9864493477

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q40 gfF 9 x6=45Tx4=33 3T 6x4=20% ar

5% 3 Sl Al fehaal gham?
If9x6=457%4=33 and 6 % 4 = 20, then what is the value of 5 = 37

Ans K124
v 216
<313
< 410

Question ID : 9864494348
Status : Answered
Chosen Option : 2

Q.41 13 Atex el v W U (WS o g &, S HgER o R B ST o
12 FAeT W ¥ A 3HF 9IE F 3 Fg W @A g W F T5F F g@l
3T & oFE AT A Ag IR a5 AleT TS o Ugel 8| HEh
dt=E A Fiew?

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

Ans ?("1. 14;13'?1
14m
16 HreT
16 m
15 Hrex
15m
17 Hrex
17m

X2

X 3.

o 4

Question ID : 9864492458
Status : Answered
Chosen Option : 4




Q.42 Tefof@a & ¥ W 3098 & 759 & 3 g & INumEEwT, 75 30mEr &
Ao & gy gl Bmer aiome gaehfa gem

An increase in price of which of these products will have a ripple effect in increasing the
prices of many products, thereby resulting in inflation?

Ans =)

x 1 garsar
Medicines
p== iAo
Smartphones

v g

Petroleum

X 4 HTSTHAETS

Automobiles

X2

Question ID : 9864492338
Status : Answered
Chosen Option : 3

Q.43 v {EmEr 90 fraleiey wid o ff = & U 100 AT F A H U
& T 10 &he 1 TAT AT §1 oA T oEE Hiel 7 AT

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the
length of the train in metres.

ans X 1140
V2150
X 2130
X120

Question ID : 9864492590
Status : Answered
Chosen Option : 2

Q.44 40 A 9 Fr v Trg afos fer F sodde vl deE v F W
@ &1 sEh i 10 Fex oY S O o= ¥ e sae e T
raer grem?

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10
m/s, the amount of net work required to be done on this object is:

Ans 75 AT
r 0 ~
757

150 =T
2 h
1507

50 Sel
Y

507
100 S

K3

X4
100 7T

Question ID : 9864493241

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.45 @ ¥ 91 W e, fave Afgwey ¥ ST F30 @ i Wl gger Aifde
g, e &1 31 F 2 ¥ vw av w5 ofn fave & adAe s w e

Seven years from now Virat will be twice as old as Mohinder. Five years ago Mohinder’s
age was one year less thang of Virat’s age. What is Virat’s present age?

Ans
x 1 51 I9

51 years

v 5 EL)
55 years

x » 53 g
53 years

x5 57 EL)
57 years

Question ID : 9864492932
Status : Answered
Chosen Option : 1




Q.46 wralr 2018 F F9ereY AFNT F FFAN, TUAHAA H M Fomger afiwg
(FromgTd) F e FHa 27

‘Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 20187

Ans 1 HAH B
.Amartya Sen

TSTAT gIger
2.
Najma Heptulla
IECCIR-CRiE]
3
Bibek Debroy

X 4 HAT &=
Amit Mitra

x

Question ID : 9864492385
Status : Not Answered
Chosen Option : --

Q47 QBT & T #ia o7 30 e Jife sl & sufyg far gy
‘Which of the following acids is present in Red Ants?

Ans " FITHeR HFeT

Question ID : 9864493129
Status : Answered
Chosen Option : 1

Formic acid

X2 Ao 37T
Malic acid

X3 - =1
Tannic acid

x4 Tt Tore el
Oxalic acid

Q48 A .

E

FRIFT ged H, 99 AB F FIENGT DE ¥ D fig X FHewe B agrr Smr
%1 afe¢ AB = 12 cm 3T DE = 8 cm @, ol BD & wi@s #d Hil

A B
D

E

In the circle above. chord AB is extended to meet the tangent DE at D. If AB = 12 cm and
DE = 8 cm. find the length of BD.

Ans x 1 6 Tt
6 cm
, 46 AT
46 cm
(3.4 HETHTET
4 cm
x 4 D HETHAT

5 cm

x

Question ID : 9864492996
Status : Answered
Chosen Option : 4

Q49 37 org & 7F FAW T AT § qAF T FET A FHAT ¢
Name the metal that can be easily cut with a knife:

Ans

Question ID : 9864493191
Status : Answered
Chosen Option :1




Ka 2

Aluminium

Q.50 T TEH T AR FI GER, 20 AHF UF ASHl F Fgl, "SHHT AT A

ATATSAT BT Shellc J¢T §, AT IaH Sdel Th 9¢T ¢ AN IS I o 51" 2w
e T o ¥ FY FEET &2

Looking at the portrait of a girl. Sheesha a girl, said, “Her mother is my grandfather’s
only daughter who has only one daughter and no sons™. How 1s Sheesha related to the girl
in the portrait?

Question ID : 9864494166
Status : Answered
Chosen Option : 1

Ans v TR Fr wshr gg R g
1.
Sheesha 1s the girl in the portrait
X 2 HIGH/ AT
Niece
a5l
X s
Sister
x4 arET A /FHT G AR /A (Aunt)
Aunt
Q.51 RBw 7w yest 9 =R & 3 vl & 6 et &1 e &0 & A st § @ .
Fher T Pt i ¥ Question ID : 9864494153
Status : Answered
T T/, 1 ATAT L1 TG, 8 ? Chosen Option : 1
a=g
1. TSl o AR & qA.4REH, 3o Ud GIaTor, Hel 9ial & gele fehar gl
2. TSl T IO SRl F A el dgd W B
Consider the given question and decide which of the following statements is sufficient to
answer the question.
Is Raju fond of travelling?
Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be in the company of s friends.
Ans

)
95T &l Ico ol & ToT, A 1 sheel GG § TG G 2 dhdel AT gl
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

<2
TReT & 3ca &l o ToIT, Gl are Ue Al TRied §, g At gr ae
3Pl JATCT T £l

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X3
aEFg 1 oF 2 I #, T 787 § AR 92T 1 3l & & o wfafEa
SR T IFGRTRAT ¢

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
question.

X 4




TR F 3cc ol & folT, A 2 A T § TR a1 adel SAed dar
dl

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Q.52 AT 2018 H 3TERY FFF & TAN FomgEe §F & vAd A @it Fiw

Ans

&

‘Who is the MD and CEO of Allahabad Bank as of March 20187

x 1 for@r erAT
Shikha Sharma

Usha Ananthasubramanian
x4 ‘ :

Arundhathi Bhattacharya

Question ID : 9864492434
Status : Answered
Chosen Option : 3

Q.53 fer av yeT W faER & 3R aw w F F=fofla &= # @ #a-ar w23

Ans

TR H Ieal & & foIw oo
X ¥R Y & FlF § | T+ &2

FYel:
1. X o 310 o7 3fifdem R &
2.Y F FO W 3R geie femr am

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?
Statements:

1. X had given more dance auditions.
2. Y had given more stage performances.

F !
ddTFIT 1 3N T FUA 2 GAT ¥

Neither statement 1 nor 2 is sufficient
2
FHA FUT 2 GACT §, Fah FUT 1 e HUATT ¥

Statement 2 alone is sufficient while statement 1 alone is insufficient

X 3.
3heT HYT 1 TS § Fdfh HUT 2 30hol JIATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

x4_$ﬂ?r13ﬂ'\r2a?|"rtm‘rt?r%‘

Both statement 1 and 2 are sufficient

Question ID : 9864493870
Status : Answered
Chosen Option : 2

Q54 Grafaf@a fAeedr 7 & d&fda wsg AET &1 93T H|

Ans

9 : g4t =

Select the related word pair from the following options.

Goose - Geese -

Question ID : 9864494014
Status : Answered
Chosen Option :1




e et
Pant : Pants
FHMAT : FHT
Shirts - Shart
AT : Al
Socks - Sock
SR : Siehe
Jacket - Jacket

v

X2

X3

X 4

Q55 ABC$+#DEF&=?GHI'2+@
FR T A & 39T Fa Trell T
ABC :@=2 :S$#E
ABCS+H#DEF&="GHI!2*@
Find the missing term using the above sequence:
ABC: @*2:S#E: .

Ans 1. 2H
v 2 1H?
X 5 HHI
X 4 HG

Question ID : 9864493859
Status : Answered
Chosen Option : 2

Q.56 gag X 3R Y vF ek # vw @y #1 AR 99 @ §) 99 & oF ey @ e
g8 Y & omr @ X F Fwe wEEr § X R e & e s me

In the morning X and Y are walking towards each other in a park. When they meet each
other, Y’s shadow falls straight in front of X. In which direction was X facing?

Ans m
r 0
West

Question ID : 9864493833
Status : Answered
Chosen Option : 1

Q.57 famft wamm # 9 o AN Fo oW § FE e & ot & W @ site
12 & 3y orralt & redrst @ stwa 14 3 30 T o % g wrede an
st 13.1 g & @aT & o o B wEdr a4 ofr?

In a class, there were 9 boys and some girls. In a test the mean score obtained by the boys

was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?

Question ID : 9864492838
Status : Answered
Chosen Option : 1

Ans x 1. 21
X219
X322
W 420

Q.58

Question ID : 9864493883
Status : Answered




Ans

forfaf@a sy & fraer P deg 2

How many triangles are present in the following figure?

<113
v212
<311
<410

Chosen Option :2

O =T W FT T UF ANEE § ?

Ans

Which of the following is a Saprotroph?

hedl
r 0

Pigeon

farer
xe Algae

Question ID : 9864493396
Status : Not Answered
Chosen Option : --

Q.60 wer FEafier qer s et &t A, B 3t ¢ & Aeas & 10 o 7 s/ srar &1 Ev C E
B HERe o & At Tt B T A TN aw & e qm A v A & qEnr

3o 9T H Toraen gHT o

A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the

swimming pool?
40 T

| 40 hours
80 T

| 80 hours
00 T

| 90 hours
70 T

| 70 hours

Question ID : 9864492572
Status : Answered
Chosen Option : 3

Q.61

Question ID : 9864493287




Ans

Us TTAN] F FOgiAl S §E fhes auet @ 8

The number of nevutrons in an atom is equal to the:

Status : Answered
Chosen Option : 4

F ! 5

Atomic number
X2 AT HE
Mass number
p S ¥l I;UI T T H
Number of electrons
v T TEAT - GTATOAT S T

Mass number — atomic number

Q.62 T dagedita g 1 3, o MR i e seh FaE fr o foeR
. TF T F AT & e §1 o0 dr Fear R e # e av
Fara foraa 82
The volume of a right circular cone, whose radius of the base is same as one-third of its

altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:

Ans

Question ID : 9864492995
Status : Answered
Chosen Option : 1

<111

v234 33
X3.3V’§ -2
LEE

A8 iy T=Ter W gL F g B
Pir Panjal Railway Tunnel is located in .

Ans

Question ID : 9864492102
Status : Not Answered
Chosen Option : --

SAFH-<h2
, TR
Jammu and Kashmir

le’i%masrq%m

Himachal Pradesh

X EIxsEAEEE]
Uttarakhand

faEsA
Sikkim

X 4

Q.64 foret dor F wrer A ey T * el A vt & e e 3l 9 sw
44 w1 Fig & & Aoy et Fr FEwr 36 M IR ey d&F o F@EIw 54 8 A
dor & wrer et Hr wEr T gl
The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red
balls, the number of blue balls was 36. If the number of blue balls is 54, how many red

Question ID : 9864492825
Status : Answered
Chosen Option : 3

balls will be in the bag?
Ans x 1. 62
< 2 68
V'3 66
X 4 64
Q.65

Question ID : 9864494059
Status : Answered
Chosen Option : 3




34 WFHT F AT H N Feaifeg g F JEtaaT a8 g

© | A[0]

A B CcC D
Select the figure that does NOT belong in the following group.

@ D|A\|[0]
Ans X 1 C
< 2D

K3 A
v 4B

Q.66 RearaTe 39=aTH 'h HAH I IS T & JEF HiT g7
‘Who is the author of the speculative fiction book ‘Half of What I Say’?

we e Ao

Question ID : 9864492251
Status : Not Answered

Chosen Option : --

&)
Anil Menon

X2 *. HX. A
E.R. Meera
o, S s
Namita Gokhale
orfer 2%y
Shashi Tharoor

X 4

Q.67 tiaedla ol aitad Wil 7, dedl & 1ol &l I e D A FHIT AT
S/

In Mendeleev’s periodic table, the properties of the elements are considered a periodic
function of their:

Ans o TRA BT
Atomic number
B ICRICIUERER]
Tonization enthalpy
x5, RE & HBR
Atomic size
v 2 RHY

Atomic mass

x

Question ID : 9864493174
Status : Answered
Chosen Option : 2

Q.68 Ry 71T Frqgat & g F wew F TR 3R e F TTT

mEy oo

Select the most appropriate term for the given set of items.

mey o o

An

Question ID : 9864494157
Status : Answered
Chosen Option :2




Vs
Technology
X 4 3

Culture

Q.69 37 & = ¥ 71, T F HY, T H AG F A F HS T FH v
31 G T T AT AT 61 a¥ §| T H aoee g Gt 37

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The
sum of their present ages is 61 years. What is Dharitri’s present age?

Ans
X1 43 I
43 years

xgss-ﬂ‘r

36 years

41 99
3.

41 years

39 Iy

39 years

x

v

Question ID : 9864492912
Status : Not Answered
Chosen Option : --

Q.70 F=gyt F & TR § e WPR F AT @Y TP F A+ ¥ A I
ST FE H 1 TEd FER F 12 Ay B w #r 10 e & v s
B s T A W B F BT 4 T2 TR F Ao i 8 g@t v F
Fgd # e TET wEE?

Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

Ans x 1.17
< 220
Vv 18
X 416

Question ID : 9864492729
Status : Not Answered
Chosen Option : --

Q.71

Question ID : 9864494345
Status : Answered
Chosen Option : 4




Ans

feu 7w e W faan wT SR a7 F & & aF s 7§ Ha-dd s
A sedfafed 3

EAEIT € Hafea® #ifa &1

HefATe:
() SAFER @r ifd 96T 8
(1) gt = & Sy el &1 =nigw)

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:

Honesty 1s the best policy.

Assumptions:

(I) Honest people are policy makers.
(II) Each policy must contain honesty.

1 Fael A (1) Ffed g1
Only assumption (I) is implicit.
SeTAR (1) 3 (1) &= &1 fed &
Both assumptions (I) and (IT) are implicit.
| e s () @fea g

Only assumption (II) 1s implicit.
| s (1) S () e @

Neither assumption (I) nor (II) 1s implicit.

X2

x

v

Q.72

Ans

10

BYCINE
4
S 9
[ 1—Boys (C) — Athletic
£\ —> Cricket [ — Disciplined

f&&r 7T 37 @ F HGER, FT W AN ASF A CAAEFH A AT AT §
3 e off Bord § @1 gefar ¥

io0

5 3 2
4
8 9
[ 1—Boys (7} —> Athletic
A —> Cricket ] — Disciplined

According to the given Venn diagram, which number represents ‘Boys who participate in
athletics and also play cricket’?

X111
<22
<31
Vi3

Question ID : 9864493931
Status : Answered
Chosen Option : 2




Q.73 affemE & av Agsd T=g9e (i 2018 & IUeey ATFHMAT & ITTN)
o3 > ( © s Question ID : 9864492407
FT 7
. . . Status : Not Answered
Who is the newly appointed Governor of Tamil Nadu as of February 20187
Ans Chosen Option : --
HIAUIH T&ETAT
2

F !

Subramanian Swamy
2 =2
Banwarilal Purohit

X3 F. AT
K Rosaiah
, Hegare FEICED
Satyapal Malik

v

Q.74 IEH fopder et | 7
R ° A el & OFF Tl IS T ST &2 Question ID : 9864494123

Status : Answered

R+JM2$#QR?+0@7F3 Chosen Option :4

The number of symbols that are preceded by a number in the given expression is .

R+IM2S#QR™O@TF3

Ans x1_4
21
<33
K42

Q.75 U 71T geFdedt F B9 A & ol 3R g a7 F T ST & AvwS agaear .
¥ ¥ AFTT 57 F B o F9d §) Question ID : 9864494167
aFae Status : Not Answered
1. O Bl FEAAT £ Chosen Option : --

2. T Hisoal @iey g1

oS
1. T el @ AL B
2. Fw Fleordi Bl g

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.
2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans «1_%&1ﬂﬁrﬁﬁﬁzﬂﬁr?‘|

Conclusion 2 1s correct.

o, ot 1w
Conclusion 1 is correct.

, 1 300 2 et wér o g

Neither conclusion 1 nor 2 18 correct.

1 3T 2 gl Her 2l

Both conclusions 1 and 2 are correct.

x

X4
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 farefafee # & i @ ag Fd= do # Farfed g & 2 Question ID : 9864493251

Which of the following metals is stored in kerosene o0il? Status : Answered
Ans Iﬂ?-IT Chosen Option : 3

Q.2 & few arv O o+ 3eax O F O R v o wieatea e mar € A &
& & & o T F gmfase F ae °T F1oa3a w0

7
%

B

Question ID : 9864493681
Status : Answered

Chosen Option : 3

The below figure is embedded in one of the answer figures. Choose the correct figure
containing the below figure.

7
R D8

.ol
X2 A
XD
v:B

Q.3

Question ID : 9864492952
Status : Answered



aqﬁq,wmmmgqmr:ﬁ:méﬁaﬁrsd%aﬁt4d%ﬁmml

Chosen Option : 3

§ ufs v Al T o 1 8w F @ Y wed ¥ W R Lol gw
off @ welr A TSt @ v W e g S o Ol g e #
oo THT oEEm?

Two pipes, when working one at a time, can fill a cistern in 3 hours and 4 hours,
respectively while a third pipe can drain the cistern empty in 8 hours. All the three pipes

were opened together when the cistern was i full. How long did it take for the cistern to
be completely full?

Ans x1_2u’i101ﬁﬂz

2 hour 10 minutes
,2 e
2 hours
, 1 ®er 45 fee
1 hour 45 minutes

4.2a%11ﬁ::|z

2 hour 11 minutes

v

x

x

Q.4 20.0 cm T FFAT & TISAT ATeT T A GUUT HT BIHH G4 arei:

The focal length of a concave mirror with a radius of curvature of 20.0 cm is:

Ans X‘]S{:m

Question ID : 9864493063
Status : Answered
Chosen Option : 2

K 215cm

v 310 cm
X 4.20 cm

Q.5 5 m/s & AT & AT 22 kg T dTel T&F HT AT 3l o= i
An object with a mass of 22 kg moving with a velocity of 5 m/s possesses a kinetic energy

Ans 1275 J

Question ID : 9864493480
Status : Answered
Chosen Option : 4

< 22750 J
#1100 J
<4110 J

Q.6 If 317 v eoT H 2w # At o # o ol (e mEee) s o &, aredr
ESR-Corg-s

If you look into a mirror and find that the image (your reflexion) is smaller than you, then
the type of the mirror is:

Question ID : 9864493364
Status : Answered
Chosen Option :1

Ans

X, HE g9uT
concave mirror
v Foael T
convex mirror
| WEE-3eare gUoT
plano-concave mirror

4.1':I'FIF|?~IE'5I"JT

plane mirror

x

x

Q.7 ‘FIfawg # afadrar s vF iR # G5 & 9= g A=y & gl
TERRT s T AT v T R @ &

The ‘Kathopanishad’ captures the conversation between a young boy named Nachiketas
and a god. Which of the following gods is talking to Nachiketas?

Question ID : 9864492127
Status : Answered
Chosen Option : 2

Ans v T TH
1.
Lord Yama




Lord Indra

STITETT Fiiahd

Lord Karthikeya
x 4, FTE IEiC)
Lord Shiva

x

< 3.

Q.8 T Ieel W TF-GEL T 75° F FI0T T I g5 TRt B v g diwe oo g
Tz § o Tt B gre < 3 st 3 sifam Rigat ox dter s,
ot ST T T il

To draw a pair of tangents to a circle which are inclined to each other at an angle of 75°,

it is required to draw tangents at the end points of those two radii of the circle, the angle
between whom is

Ans o 1.105°
X 2 65°
X 3. 0950
X 4. 750

Question ID : 9864492518
Status : Not Answered

Chosen Option : --

Q9w Feare 1 o e AR 8T 87

The resistance of a conductor is inversely proportional to its:

Ans TSI SI19T T &9 Fel
v S
area of cross section
X2
length
RlIEEIG)

3.
temperature

X 4

resistivity

Question ID : 9864493546
Status : Answered

Chosen Option : 1

Q.10 wrwimrF sk AaF 3619 emmr s | 3t sma 3t & & kit
FFT 8 ¢ 11 §, 7 T 3 oo 3 forgey ity aemy srr 2

There are saplings of 361 Mango tree and Neem tree in a garden. The ratio of the number
of Mango tree to that of Neem tree saplings is 8 : 11, then how many Neem tree saplings
are in the garden?

Ans X 1. 57
V' 2 209
X 3152
X 4171

Question ID : 9864492545
Status : Answered

Chosen Option : 2

Q11 7fE 3 + ax + 4, x- 5 I O =T & & & F A T 87
If3x* + ax + 4 is perfectly divisible by x — 5, then the value of a is:

Ans x1_ -5
v2.-158
<3 -156
K4 -12

Question ID :

Status

Chosen Option :

9864492957

:Not Answered

Question ID
Status
Chosen Option

19864493866
:Answered
12




Weard T (Problem figure) #r T 51 ST & I+

Problem Figure

Answer Figures

B

A B C D

Choose the correct water image of the problem figure.
Problem Figure

Answer Figures

N

A
Ans X1D
v2C
X< 3B
K4 A

Q.13 oreriae & FeowuT & o @ § @ &ar 393w ¢ 7
‘Which of the following is essential for the synthesis of thyroxin?

Ans X1_t|’|ifénﬂ

Potassium

Question ID : 9864493316
Status : Answered
Chosen Option : 4

Q.14

Question ID : 9864494000
Status : Answered
Chosen Option : 3




Ans

jan feb mar apr may jun

jan- S feb- T mar- AR apr- A

may- #S jun- Sl

T a1v aife Ater-wEfee A g miEE % 2017 F qwendr 6 AW F
AET X F ge Tl S FEw (Fent #) s

I WE H TEer wear Ae-antra f ¥ v gEh dww g vt $r 3

T T E F 3T W, I F w2017 F Shw, Aermatre &
3YoATaT AT IRt & IR B wear T =2

jan feb mar apr may jun

The given data shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

Based on the given data, from January to April 2017, the increase in the registration of
vehicles other than bikes is .

+ 19000
X 28500
X 39050
X 48000

Q15 Srewdy AR F JTeT TgT a2r FieT T AT?

Ans

Which was the first country to introduce GST in its system?

p D S
Germany

X2 ; ;
Australia
T
Canada
v ')
France

< 3

Question ID : 9864492218
Status : Answered
Chosen Option :1

Q.16 wep e & 25 STl T ANIEAT T AT 150 cm 31T 38 a1 # 35 asfeat fr et

T AT 145 cm §1 T & Tefr 60 rgztaia & Sargar o Hgad Are s
(EmE kv

The mean height of 25 boys in a class is 150cm, and the mean height of 35 girls in the
same class is 145 cm. The combined mean height of 60 students in the class is

(approximately)

Question ID : 9864492637
Status : Answered
Chosen Option : 1




v 1147
< 2145
X 3146
X 4143

Q.17 Trafafad # & Bue Taalees §aae & & AgeaquT st H1 FreT &
TR T #r i T o ?

‘Who among the following laid the foundation of chemical sciences by establishing two
important laws of chemical combination?

Ans x 1 HeATE TEIHIE

Emest Rutherford

A

Democritus

5 TSI U AT
Antoine L. Lavoisier

x4 FEE T GIEEE
Joseph L. Proust

< 2

Question ID : 9864493207
Status : Answered
Chosen Option : 3

Q.18 g & v famor @ gsqmqar%l Brsor #r = A 21 A @ A
A 4 ohex Tl i e Rar e & R & g w g Faw w®
HARET?

g of a milk-water mixture was milk. There was 21 litres of the mixture. If 4 litres of water
is added to it, the percentage of milk in the new mixture will be:

Ans X 1. 44
X211
'3 56
X 414

Question ID : 9864492786
Status : Answered
Chosen Option : 3

Q.19 =7 @ 3cax =T (Answer figure) f&w 1T 997 == (problem figure) # TEr
ST SiatET &7

Problem Figure

Answer Figures

e Tl

‘Which of the Answer Figures is the correct water image for the given Problem figure?

Problem Figure

Answer Figures

Ans X1B
X 2D
X3 A

Question ID : 9864493962
Status : Answered
Chosen Option : 4




vicC

Q.20 5y & =18 arfeem A Faw 10, sgewmer A 3 B H FemEfd st e odew

#F AT A Ao oEr HT GEAT F REr ¥
FPT A H T SO (T guEed Ui o) Rhdar 82

gRumH FTHET | IHET B
A
et glemst F e | 28 23
#er arer Rt
T FT T
Aty afteT & 14 12
For oifehet |
e F o
Facanfaat &1 gor
wE
Aeamafe afreT A 6 17
9T A HAE
ofieT & Ser
Reafiat #r g=
T

2t aftemst F aw | 64 55
et arer freanfirt

F Fo FE=T

The following table gives the details of the number of students in Class 10 section A and
B who had taken mid-term and final exam.

The percentage of students in section A is (round to one decimal).
Result Sec A Sec B
Total number of 28 23
students who failed in
both exams
Total number of 14 12
students who failed in
mid-term but passed in
finals
Total number of 6 17

students who passed in
mid-term but failed in
finals

Total number of 64 55
students who passed in
both the exams

Question ID : 9864493819
Status : Answered
Chosen Option : 3

ans X 1. B
v 2511
< 3512
<4513
Q.21 7% W wamEeE fFEn w1 i o #1 F sud A e sl W agEe

Ans

fafga &

o
IH AT F9= BEST & 39t f3rw & 10% weady = &1 $haer faar 21

e HTT:

1.-‘.1:1'=fr BEST &® a1 et & FF BT areht 3w =9t &1 e 37 @t
gl

2. T qfE & wrg o s@ WO H wEa gger S & 5= @ W B

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The BEST bus travels company has decided to increase its fare by 10%.

Assumptions:
1. Passengers may opt for other buses costing less than the BEST bus travels company.
2. The demand for the buses by passengers may remain unchanged even after the fare
hike.

x1_;ra’r13ﬂ1;r€r2ﬁr%?r%

Neither 1 nor 2 is implicit

Question ID : 9864493720
Status : Answered
Chosen Option : 3




e I 1 T &
2
Only assumption 1 is implicit

1 3R 2 3 e §

Both 1 and 2 are implicit
Faa A 2 Ak @
4.

Only assumption 2 is implicit

x

v

x

Q.22 afewzw @ ieas A 9 A9AT H ggas & (AU, MO FHe J & a1
FTAT g

To convert temperature from Celsius to Kelvin scale, you must:

Ans 1ﬁammﬁ2?33’|:%

v
add 273 to the given temperature

X2
few 1T araaEET & 273 o RFafea &y

divide the given temperature by 273
s few 1w qroEE # & 273 e
subtract 273 from the given temperature

few aw argEE @ 273 F T A
4.
multiply the given temperature by 273

x

Question ID : 9864493328
Status : Answered
Chosen Option : 3

Q.23 7 A, B3 CElaER o THEE & ¥ F attyd § | Ay AF WAy
FEAAT 73R C# 39 B, aF BH WA FEIAM fahoaT ghem 2

Elements A, B and C occur as Dobereiner’s triads. If the atomic mass of A is 7 and that of
C is 39, what will be the atomic mass of B?

Ans o 1. 20
X 223
X 340
X412

Question ID : 9864493394
Status : Not Answered
Chosen Option : --

% gz ¥ Hg # gER T 2l
A battlefield always has:

Ans
v o
Arrows

#faw

Soldiers

HE

| Elephants
ToT

' Chariots

< 2

X3

X4

Question ID : 9864493824
Status : Answered
Chosen Option :2

Q.25 3 U 9 e 1 M’ ZERT, #ax 2 & 'N' GFRT ager T sar ¢ i
FH g 3T HH W, A ST WAT 21:00 P E, ©E oGS HET W
gt

If the number 1 on the clock is replaced by the letter ‘M’, the number 2 is replaced by ‘N’
and so on, then when the time is 21:00 p.m. the hour hand will be at letter.

Ans x1_T

Question ID : 9864493880
Status : Answered
Chosen Option : 4




X228
X3V
vau

Q26 2016 # Neifs W Fia F MR H FATST gT a2
The 2016 Olympics was held in which city?

Question ID : 9864492209
Status : Answered
Chosen Option :1

v ot @ Rt
Rio de Janeiro
AT &dr
<2
Mexico City
Cires)
Paris
X4 e
London

< 3.

Q27 far a7 fapedl # ¥ TEr FATT SAIET & =TT Hi

Te$ : gl

Choose the correct analogous word pair from the given alternatives.

Carpenter : Hammer

Ans .
X1 FT ; fae=T
Crane : Builder
, dAAdl - YiAr
. Plumber : Wrench
FTIeT ; TH
X3 "
Computer : Writer

FogIsl | FAFSERT
4
Axe : Logger

x

Question ID : 9864493804
Status : Answered
Chosen Option : 4

Q.28 & = =y & BT 7w ax Rt § Bl v & ot ¥ g % owa
TR aR Rt Ao el g g2 &

2

N3
N AN
A B C D
The following figure is embedded in one of the four answer figures. Which figure contains
the problem figure?

2

BRI

A B

Ans X1A
X2C
v B

Question ID : 9864493823
Status : Answered
Chosen Option : 3




X 4D

Q.29 g wfem & fFw & 39 o quw gaa F v @ #FA= 2017

Question ID : 9864492393
&g I T

Status : Answered
‘Which eminent Hindi writer was chosen for the Vyas Samman 2017 for her work

‘Dukham Sukham’? Chosen Option : 3

Ans hd
xLaﬁmﬁmﬁr

Meena Kandasamy

K2 2
Jhumpa Lahiri

X3 e e
Namita Gokhale

v & AT FHiforn
Mamta Kalia

Q30 Frr & Tlé' FEHAT # ¥ FiT o 9 EmT Question ID : 9864492904
m’ Status : Answered

Hﬁ %—? Chosen Option : 2

Which of the numbers given below is NOT rational?
Ans X 1. 3/64
v 2.8
X3 y8
X 4 64

Q.31 ey a0 #r 4a% F T 7.5% FiE &7 W TR0 s34 W =aer
o o) Afy @aer 5 a9 F v g@ar ar 3fST s 7375 afSe gan e

# foder Fr o ufar frae o Status : Answered
Chosen Option : 4

Question ID : 9864492847

A sum of money was invested at the rate of 7.5% simple interest per annum for 4 years. If

the investment was for 5 years, the interest earned would have been ¥ 375 more. What
was the initial sum invested?

Ans X 1.3 4,500
+ 2 ¥5,000
< 334,750
< 4. ¥3,750

Q.32
Question ID : 9864494093

Status : Answered
Chosen Option : 2




e fGF TIT e F Fed A §T AF A B o HUT 3 IR O HieT AT
Ty Af¥ag w9 @ Rerar =1 geRar 2

YA

| W § R SR # S g oe e S avenw §) sEfew &
FT A U a9 § ar v dew AT &

forsy:

1. TIFT F TAT H FTETEFHAT Y27 AT ART 7 T 1 T S
arelr T &1 AT & F HE
2. w0 & g FX g TR AR T oS S g TH

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

People think that paying tax to the government is a burden and waste. Hence, they avoid
paying tax or don’t pay tax promptly.

Conclusions:
1. Government should create awareness among the people that paying tax helps to
build nation.
2. Tax should be increased so that more money is collected.

Ans x1ﬁ-TEF‘§I’1 AT 2 EAAT HFTEIWT A &

Both 1 and 2 follow.
forf fshy 1 JHegERoT & B

Only conclusion 1 follows.

W2

< 3.
o a ey 1 3R a1 & ey 2 s F E
Neither 1 nor 2 follows.

o e 2 3780 HLaT g

Only conclusion 2 follows.

< 4

O Fa F AR FEgES & G wERET 9
Which Indian Chief Minister’s father was a ‘Maharaja’?

Ans K . W Hm%
Chandrababu Naidu

X2 gag FEAaH

Devandra Fadnavis

&. g T

K Chandrasekhar Rao

3AfET fE

Amarinder Singh

X3

v 2

Question ID : 9864492287
Status : Answered
Chosen Option :2

Q.34 T memer $r @ TaEr & &9her 20 m?, 32 m? 340 m? §1 T # 3Taae
foraeT 12

The surface areas of three faces of a cuboid sharing a vertex are 20 m?, 32 m? and 40 m?.
‘What is the volume of the cuboid?

Ans

Question ID : 9864492854
Status : Answered
Chosen Option : 3




] 184 m?

184 m?
92 m?

92 m?

V3024 m?
V3024 m?

. 160 m?®
160 m?®

x

<2

K3

v

Q3% a1qU 3l F W ATATKAT G@RT Icd A E-

Metals reacts with acids to give:

Ans 1‘F~|E'UT3T'ITE'I$'§"I?IFI'

v
A salt and Hydrogen
x , a0 AT &R
A salt and base
x5, a0 HIT g=T
A salt and water
x ;. U1 AR FANIT
A salt and Chlorine

Question ID : 9864493272
Status : Answered
Chosen Option : 1

0% & TE BN HWeT H LU T TAETN

BGL, DIN, , HMR

Find the missing term in the letter series.

BGL, DIN,
ans X 1. GLQ
X 2 FPK
v 5 FKP
X 4 EJO

HMR

Question ID : 9864493721
Status : Answered
Chosen Option :1

Q.37 gl St &1 39T e # @ e AT & R ST &
Chlorine gas is used in the manufacture of:

Ans v Self=reT 9T3ET
Bleaching powder
X2 ?*‘Fné- =
Washing soda
| afer B
Baking soda
, T aE=
Baking powder

X

x

Question ID : 9864493590
Status : Answered
Chosen Option : 3




% rafafee & & id °1 e g B e
Which of the following is a reducible fraction?
Ans v; 1 105

112

x22

15

Xz

17

Xz

26

Question ID : 9864492442
Status : Not Answered
Chosen Option : --

P gfEa+b+ec = 0,ar(a®+ b+ )2 =2

Ifa+b+c = 0,then(a’®+ b’ +c%)? =
Ans x 1. 3a2h%c?
X 2. 9abc
& 3. 27abc
v 4 9¢2p2c?

Question ID : 9864492584
Status : Answered
Chosen Option : 3

Q40 FfE cot*9 + cot?0 = 3 B Al cosec*d - cosec?d =?
If cot*® + cot?6 = 3, then cosec*8 - cosec?8 =?
Ans x 1.1
X20
X5 2
v3

Question ID : 9864492897
Status : Answered
Chosen Option : 3

Q41 37 wEr fawed &1 ot A TEATAT@d @ T QU FLEm:

ACT, EGG, INK,
Choose the correct alternative which will complete the series.
ACT. EGG. INK,
Ans 1. BYE
X 2 DIP
# 3 FUN
v+ OLD

Question ID : 9864493671
Status : Answered
Chosen Option : 4

Q.42 ﬁm gol EFE-

— {45 — (—96) + (—32)} =2

Solve the following:

—~{—45— (=96) + (—32)} =7

Ans 1. —10.5
< 2.10.5
X312
v 412

Question ID : 9864492799
Status : Not Answered
Chosen Option : --

Q.43

Question ID : 9864492973




AL TAAT A F AT - T 3T &7 ¢ o A T Aed A ¥ e
&r A T = - Tor fwEEn A gF w 9Ee g, S A F AR @

Status : Not Answered
Chosen Option : --

a1g A gl Fh T Y ag #
Three-fifths of my current age is the same as five-sixths of that of one of my cousins’. My
age ten years ago will be his age four years hence. My current age is years.
Ans x 1. 60
X 245
V'3 50
X 4 55
Q44 sy 3 & frer ¥ wafdm &, 39w ¥ gEfoa )

‘Food” is related to ‘Refrigerator” in the same way as ‘Clothes” is related to

Ans m;rmvj’r

Material

HeTANY

Closet

IR

| Garage
a

< 4
Fold

2

X3

Question ID : 9864494164
Status : Answered
Chosen Option : 2

Q.45 2 kg F T GETHIA ATl TG IR A AL 20 m/s F TRINF I H HRrSAr g 2
Uehs T 3THT T Fall Tehedall 819117 (2= 10 m/s2)

A body of mass 2 kg is thrown upward with initial velocity of 20 m/s. After 2 seconds. its
kinetic energy will be: (g= 10 m/s?)

Ans 12007

Question ID : 9864493142
Status : Not Answered
Chosen Option : --

X 24007
w307
X 41007

46 gy . s 2 Pt et 82

Question ID : 9864493860
Status : Answered
Chosen Option : 2

How many triangles are present in the following figure?

Ans x1_ 12
<215
V'3 14




<413

Q.47 7750 1 TRfaE TfEr T 3 AE= F = €18 F wfy o @umer s & ST .
3 Question ID : 9864492827
T 750 invested for 3 months gave an interest of T 18. What was the simple rate of interest e
per annum? Chosen Option : 3
Ans  of 1. 0.6%
K 224%
X3 12%
X4 72%
Q.48 7% W wwaEs AR F AR Tu wt F se A & 78 P @ e )
Brfe ¥ ¥ Question ID : 9864493694
Status : Answered
T Chosen Option : 4

TESATS JHANA Flefetel FTTT §1

FeTHTE:
1. A FA AN FF Al AFd & Faeed F v sivens
2. A WESAE T O T Al & wEeed & o o silaens g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Public smoking is an offence under the law.

Assumption:
1. Smoking is injurious to the health of the person who smoke.
2. Smeoke is injurious even to others health in the public places.

Ane muﬁwza‘la‘ri?ﬁ%?r%

Both 1 and 2 are implicit

A 2 R

Neither 1 nor 2 is implicit

v shaol IJAT 2 TAfed g
Only assumption 2 is implicit
hadl HJAT 1 Afga &

X 4 2

Only assumption 1 is implicit

Q.49 fezm T 377 HR@ 3 OE F A § S Bfdew awe s w § 5 .
s, T S g Y F - 5 Question ID : 9864494085
Status : Answered
A Chosen Option : 1
English Hindi
(42
Tamil

English - 3@ Hindi - & Tamil - arf@er

The given Venn diagram represents the students who can speak different langnages.
According to it, the total number of students who can speak exactly two languages is

English '&%3 nch
Tamil
Ans X9 L +M+0O+ N
K2N+ L



X3L+0
viL+M+0

O gegaTy FIET JWEHR 2017 fHE Sar &2
‘Who won the 2017 Hridaynath Mangeshkar Award?

Ans
X1 HTM e
Asha Bhosle
ITIH @I
X2 2
Anupam Kher

icy AT
Shabana Azmi

v 2 e FET

Javed Akhtar

x

Question ID : 9864492221
Status : Answered
Chosen Option : 1

Q.51 4.0 el el v a6 Foor fRafy & | forew s s 8 7@ 5
#rer ofy A= Fr 7T g7 F T | 99 @ B o w gR T |

A body of 4.0 kg is lying at rest. Under the action of a constant force, it gains a speed of 5
m/s. The work done by the force will be

Ans 30 E“E'

307
50 Sel
Y

5071
40 St
oy

407
20 ST
0o,

207

Question ID : 9864493302
Status : Not Answered
Chosen Option : --

Q52 ges Oty & TeT AT S T ERT FRE FHRUT 9T § -

The girth of the stem or root in plants increases due to:
Ans X, T ARTEH
Extra meristem
2 Uil ARTEH
Apical meristem
v X HGEH
Lateral meristem

x4_3ﬁ1€h—&frﬂﬁﬁﬂ

Intercalary meristem

Question ID : 9864493295
Status : Answered
Chosen Option : 2

Q.53 5w Tsw FER o T I TAST arar & AT AT FgdE & 95 IREs
AT 27

Which state government has made yoga guru Ramdev Baba as the brand ambassador of
Yoga and Ayurveda?

Ans . mﬁﬂ

Himachal Pradesh

Question ID : 9864492415
Status : Answered
Chosen Option : 3




) ST E=ATT
Rajasthan

x 5 3T e T

Uttar Pradesh

giamom

Haryana

x

v

Q.54 zZreT FIEE wEd [WEER R 8T # Agcaut Aestee suaAtey & R g
Eic iy

The Dadasaheb Phalke Award is awarded for significant public achievement in which
field?

Ans 25!'[1%?{!'
F !
Literature
Ther
Films
T
' Sports
X 4 TSIl
Journalism

v 2

K3

Question ID : 9864492334
Status : Answered
Chosen Option :1

Q.55 sfzem &+ 3ifdwmaw % FROT WIFfaeh HIEIHT H1 WHAT HET T &
Odisha often faces natural disasters due to .

Ans
X1 T
rainfall
T
X2 ©
earthquakes
=Tehdld

' cyclones
;T
drizzle

Vs

Question ID : 9864492096
Status : Answered
Chosen Option :2

Q.56 ‘mex gor # TS AT W S 3w &7 §, ST F FeAes # geeee
F &
‘Madhya Pradesh’ is related to ‘Diamond’ in the same way as ‘Karnataka’ is related to

Ans ,_—-|'|',|3T
F !
Copper
<2 AT
Platinum
X3 e
Silver

=T
Gold

v

Question ID : 9864494114
Status : Answered
Chosen Option : 3

Q.57

Question ID : 9864493840
Status : Answered
Chosen Option :2




fET 1T o & eUATEE T AN TAW B FHH A IocH &oF & ToIT
fomfatag wuet § ¥ Siv Toea

P, Q, R, S 3k T & 5wt &7 35 frmem &2

HYeT:

1L QF TIPS TFAE TN S AT T T T &
2R SSH QA IRm Eaa TEwA T

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Who among P, Q, R, S and T is lightest in weight?

Statements:

1. Q weight <P and S also S weight > T
2. Rweight>Qbut<T

A FuA 1 AT a1 FYF 2 g3 ¢

r 0
Neither statement 1 nor 2 is sufficient
X2
FaT FUT 2 TAT g ek hdel HUA 1 HATT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
5 3
Faer FUT 1 TITT § T FIT FUF 2 HIAT g

Statement 1 alone is sufficient while statement 2 alone is insufficient
v P 3T Fua 2 S AT §

Both statement 1 and 2 are sufficient

L

Q.58 Grafaf@a § & Fi7 9eT ur & v OvE Fas F FE T 57

Ans

Which of the following serves as a nutritive tissue for the growing embryo?

, TTH (Zygote)
1.
Zygote

TUSIEIH

| Endosperm
, 3R
Ovary
drE
Ovule

W2

x

X 4

Question ID : 9864493337
Status : Answered
Chosen Option : 3

Q.59 forelt Tae(sr # WHHIUT e A & HAW FAMW 3 em HR 4 cm w0 § 590

Ans

Frrer & oftga &1 &wer a/r gem?

The two sides holding the right-angle in a right-angled triangle are 3 cm and 4 em long.
The area of its circumcircle will be:

2
X1 5mcm
51 cm?

X 2 6.75T cm?

6.75T cm?

71 cm?

71 cm?
6.251 cm?

6.25T cm?

Question ID : 9864492754
Status : Not Answered
Chosen Option : --

Q.60




ar ""I'é' T sger 7 o o =T & 9 Question ID : 9864494284

Status : Answered
Chosen Option : 3

A F I VA L

1 2 3 4 5
Select the odd figure out of the following figure series.

A F 1 Z L

1 2 3 4 5

Ans x12
X 21
X34
V5

Q.61 ereit &
@ # QY I FET FNOT FOAR AW wF Question ID : 9864493629

The main cause of rancidity in foods is the of fats and oils. Status : Answered

Ans W Chosen Option : 1
v

oxidation
< 2

reduction

HECIE IR

| hydrolysis
x ,, e

clarification

K3

Q62 _261+(—380)—(—521)+821—(—121) F AT &: Question ID : 9864493884

The value of —261+(—380)—(—521)+821—(—121) is: SR
Chosen Option : --
Ans X' 1.800

~ 2825
#3833
v 822

Q8 Grafaf@a & & =7 @ gpia 7 = ke 7@ gar 87 Question ID : 9864493519

Which of the following never occurs singly in nature? Status : Answered
Ans e =) Chosen Option : 2

F
Inertia

V> ol
Force

T
Velocity

x o, T

Momentum

K3



Q.64 wmur 3y 7AW vF W e TR w w18 e # weee W # g
TIE T FH F AR AT § AR v e FE q@ R 1 oF & #
ST a1E WOT FA FH 3 T HAT gl 56 TR Ewl Hew w H 40
o & 9o &t o §1 afy Fgw wner & s S § F ST o A ener

Question ID : 9864492809
Status : Answered

Chosen Option : 3

Ferer fbaet foall & 97 FF &7 wAT HLAT?

Sharan and Mayukh, working together, can complete a task in 18 days. However, Mayukh
works alone and leaves after completing one-third of the task. Then, Sharan takes over and
completes the remaining work by himself. As a result, the duo could complete the task in
40 days. How many days would Sharan alone have taken to do the job if Mayukh had
worked faster than Sharan?

Ans 1. 3()
V2 45
<324
X 4 72

Q.65 s dTei 218 R T AT FATST [Segiel [T SRrei ey & Tt T 9rea
ToRaT| 38 2017 & T A HFATA R 12T 81
Name the Indian paralympic high jumper who won gold at the Rio Paralympics. He was

awarded the Padma Shri in 2017.

Ans AT gETEe
o =
Mariyappan Thangavelu

x 5, T 1T
Varun Bhati

x5 g TR
Narender Ranbir
, SaE A

Devendra Jhajharia

x

Question ID : 9864492340
Status : Not Answered

Chosen Option : --

Q.66 TfE g9 =T (Problem figure) & 21§ T 90T &1 § & ofF Hr TEr o9ur
ofF 1

Problem Figure

@AE

Answer Figures
A B C D
Choose the correct mirror image of the problem figure if the mirror if placed to the right of
the figure.
Problem Figure

@AE

A LA
RPN
Ans o1 A

X 2D
Xs3C
v B

Question ID : 9864493856
Status : Answered
Chosen Option : 2




Q.67 apfe foheerer T GTATY] HEAT 36 ¢, A 3HeT Jolrclicieh (9= gham:

Ans

If the atomic number of Krypton is 36, then its electronic configuration is:

< 1.2,18.16
< 221888
328,188
< 42,8206

Question ID : 9864493293
Status : Not Answered
Chosen Option : --

Q.68 foofw HifSe & #= 71 frewd Ry 710 Fum F7 FH0T IeEer w3 §

Ans

T
T &hae Gal agfend & oy 4 § | X gax &

s
1. X T & A FEh
2. X U=iar ¥ ondy AT sEh
Decide which of the conclusions logically follow(s) from the information given in the

statement.

Statements:
Politicians marry only beautiful girls. X is beautiful.

Conclusions:

1. X will marry a politician
2. X won’t marry a politician

Fael forshy 1 3TTAIT HAT &
Only conclusion 1 follows

2ma’r1m234§murm%

r 0

v
Either 1 or 2 follows

A o 2 3egERT T &

| Only conclusion 2 follows

|1 3R 2 2 e w #
Both 1 and 2 follow

x

x

Question ID : 9864493800
Status : Answered
Chosen Option : 2

Q.69 el oY 3 #, v faest aw o # $EN & wea &, 9l v

Ans

Treaws =iy o¢ & off @ & 5% 6N # AT F THAT §| T TR
9T g, Taesy 3 Teawes wF Wiy = A o 9w ofe 7ue @ig

T 31 aet Towa man dan = TE w & P g B we et
#H (eEm?

In a computer game, a builder can build a wall in ten hours while a destroyer can demolish
such a wall completely in fourteen hours. Both, the builder and the destroyer were initially

set to work together on level ground. But after 7 hours the destroyer was taken out. What
was the total time (in hours) taken to build the wall?

X135
X224
X317
v 15

Question ID : 9864492869
Status : Answered
Chosen Option : 1

°-7°;ﬁ€r€r?¢ﬁar—rﬁﬁﬁmﬁgaﬁﬁw1 T AT &7

Ans

Which of the fractions given below, when added to §= gives 1?

Question ID : 9864492962
Status : Not Answered
Chosen Option : --




6
X4-;

Q.71 4 X, ‘A fig ¥ o AT L § 9iEEs i Ak 80 el TeEr § Far
arg 3R g3 S &, Y 50 fheifiey woe ¢ 3R B fig W 9§ ST g1 A
AR B Riget & mem i weEA gf e 37
Mr. X starts from point ‘A’ travels 80 km towards west, takes a left turn, travels 50 km

Question ID : 9864493662
Status : Answered
Chosen Option : 1

and reaches point ‘B’. What is the shortest distance between points ‘A’ and ‘B’?

Ans x 1. lﬂm
X 210498
# 3.104/93
v 4 1089

Q.72 Rrfafla N F F #a @ A awnte @ s A8 A

Which of the following gases is not generated in a biogas plant?

Question ID : 9864493605
Status : Answered

Ans ( 1 CO Chosen Option : 2
< 2. CO,
X< 3. CH,
X 4 H,S
Q73 ﬁT{ T hH ﬁ', o = &1 =3 ﬁl Question ID : 9864494161

Status : Answered
Chosen Option : 3

5 e )'( Kew ¥ }.(
(@) (b) (e) id) i)
Select the odd figure out of the given series.
Xe )'( Koo X {(
(a) (b) (© (d) ()
Ans x 1. (d}
v 2 (c)
X 3 (b)
X 4 (a)
Qréafe _ enfer & & 3R oW s Rfvar seve a s Question ID : 9864493638
If is involved, even greater diversity will be generated.

Status : Answered

Ans 73133-& AE=T Chosen Option : 2
" binary fission
2 gATafde Selel
vegetative propagation
| AR g

sexual reproduction

4_34?»113"13:%3?

asexual reproduction

v

x




Q.75 ﬁm gol EFE— Question ID : 9864492599

Status : Answered

Chosen Option : 4
27 — [38 — {46 — (15 —13 — 2)}]

Solve the following:

27 — [38 — {46 — (15 — 13 — 2)}]
Ans x1. 30

< 231

'3 35

X 429
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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Ql g A FsAqE A AN TTHgH AT (pH) I FHAAATEI
Tooth decay starts when the pH of the mouth is lower than:
Ans X 1.5.4
X257
V355
K456

Question ID : 9864493069
Status : Not Answered
Chosen Option : --

Q.2 ws ®F H, 3 UNGIMMICKY &I MIGNUYKCIM farm =imar & &t st @is &

COMPLEXITY = & forar swwem?

If in a certain code, UNGIMMICKY is written as MIGNUYKCIM, then how will
COMPLEXITY be written as in the same code?

Ans 1. LPMOYCTIXE
# 2 LPMOOCYTIXE
# 3 LPOMCYTIXE
v+ LPMOCYTIXE

Question ID : 9864494215
Status : Not Answered
Chosen Option : --

Q.3 e Fr Bl givar o fws A el B (@) & s B Fia
e

‘Who is the current director of Research and Analysis Wing (RAW), India’s foreign
intelligence service?

Ans
(1‘34‘ﬁl?~ra§nnﬂmm

Anil Kumar Dhasmana
X2 farToT 3
Kiran Bedi
, HATT ST
* Ajit Doval
X 4 feeteay oA T

Dineshwar Sharma

Question ID : 9864492275
Status : Answered
Chosen Option : 3

Q4 Ao WEER SAaa a7 THATT ARG IFRTET i 82
Who is the only Indian economist to have won the Nobel prize?

Ans
x 1 HiFAT T
Abhijit Banerjee

Question ID : 9864492158
Status : Answered
Chosen Option : 4




2 =
Amartya Sen

xslmﬁl?rﬁfrarr

Amit Mishra
faarer Sifag

Avinash Dixit

< 4

Q.5 35 AT F1 =F97 H{ =7 A T2 F 9: 30 Fr wET g9vr B @ 2w
Select the time that would depict the correct mirror image of 9:30 on a clock.

Ans X' 1. 6:30

Question ID
Status

19864494338
:Answered

Chosen Option : 3
X 2. 4:30
V'3 2:30
X 4. 7:30
Q.6 5
o g+, Question ID : 9864492479
22 = (/{5 — (=48) = (-16)} Status : Not Answered
Solve the following: Chosen Option : --
22 — (1/9) {5 — (—48) = (—16)}
Ans « 1. 24
X222
K321
X 40
Q.7 R aw W F ARTEE T5 3R @ B sHA #7 3oeW a & o . )
—— 3 s e 3 Question ID : 9864493775
Status : Answered
X, Y #r Z Fr sitwa Asgd F=w 2 Chosen Option : 1
FU:

1Y F 399 (X+2) 5T 5nm §
2. X 3T Y v AT Z F 740 #F FAT § 3K Z T500 wAET E

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the average daily wage of X, Y and Z?

Statements:

1. Y’s salary is half of (X+Z)
2. X and Y together earn T 40 more than Z and Z earns T 500

Ans (1_
e FUF 2 TACT § T hde wUS 1 AT §

2 alone is sufficient while 1 alone is insufficient
X 2
el FUA 1 TG § Fdieh el HUA 2 HIAT &

1 alone is sufficient while 2 alone is insufficient

x o, P 1 AR FUT 2 Bt T §
Both 1 and 2 are sufficient
T FUT 1 W FYT 2 TOT &

Neither 1 nor 2 is sufficient

X 4

Q.8 FET 428693745 H 9 HR 5 & TUHT AT F HR &
The difference between the place values of 9 and 5 in the number 428693745 is:

Ans X 1.00995
W 2. 89995

Question ID : 9864494354

Status :

Not Answered

Chosen Option : --




X 3.99995
X 4. 8995

@ FUT FIT T FUlE F 9H F=W AT
A raised hammer possesses:

Ans
x 1 aifast F=r
Kinetic energy

x 2 i F=r
Mechanical energy
| ARl S
Muscular energy
fufas ==
W 4
Potential energy

x

Question ID : 9864493581
Status : Answered
Chosen Option : 4

Q.10 #rE m & B T §§ TEG S AT T (Ey) BT HeT A EET AT SIS
T F v & TG 2v T R AT ST @2

‘What will be the value of the kinetic energy (Ex) of a moving body with mass m, if its
speed is doubled from v to 2v?

1
xi?
1

5 Ex
4E,
AE,

_Ekﬁaﬁ-étrhaéﬂaﬁM|

There will be no change in E

2E,

X4
2E;

Ans

Question ID : 9864493422
Status : Answered
Chosen Option : 4

N Frfof@d # ¥ @i |1 T 3FT A 0T AeT § 2
Which of the following is NOT a property of acids?

Ans x1_
3FT Arer A &t ool # qiafda #r Ear g

Acids turn blue litmus red

xz_mwmwm?

Acids have sour taste
< 3.
3l &R & TT1T fASE oIduT §1aT &

Acids form salts with bases
. 3 F TG FIAT A §
Acids have bitter taste

Question ID : 9864493290
Status : Answered
Chosen Option : 3

Q.12

Question ID : 9864493919
Status : Not Answered
Chosen Option : --




oty & 1 Rl F ¥ vAE F AT UF AN WANT 5T A TAE o THET

g g &
=0 Aa
[7aN[e)
b4\0

Ans

(157), (26,8) 3R (34,9)
(1,5,7), (2,6.8) and (3,4,9)

o, (187, (24.9) 3T (3,6,8)
(1,5,7), (2,4.9) and (3,6,8)

_(157), (2,4,8) 3R (3,6,9)
(1,5,7), (2,4.8) and (3,6,9)

x o (158), (24.7) 3N (3,6,9)
(1,5,8), (2,4.7) and (3,6,9)

v

Q.13 &l & %9 & T He T 375 F Wler oftd ag F 38 qUAT Telh FATd
Fe o foIT T 345 # S9e U3 W fohct widd FHa g3 &7

Dipali bought a set of cups for ¥ 375, but then had to sell it later to clear old stocks for ¥
345. What is the percentage of loss that she incurred?

Question ID : 9864492989
Status : Answered
Chosen Option :1

Ans x17
V238
X316
X414

Q.14 & 75 girg W TR #1 A 7 FT & & g Euronet F @ ST @
atafga

e

Question ID : 9864493921
Status : Answered
Chosen Option :1

:mﬁmﬁmtm,qﬁmﬁmﬁmﬂsﬁaﬁmmaﬁrw
& 25% FH A ¥ &0 w7 §

TEUROT:
1. O AFE H9= 9= Fr @9 B FH F TFA 2
2. % FEHAT FUFIOT ZANT &Y 7§ §H Follg &1 fa2ier T Tt £

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
Due to water crisis in the city, the authority had asked all the citizens to reduce their water

consumption by 25%.

Assumptions:
1. Many citizens may reduce their water consumption.

2. Many activists may protest to this advisory by the authority.

Ane . Fael TEURVT 2 afAted gl
1.
Only assumption 2 implicit.




Zl;ra’HsﬂT;r?rzﬁaﬁ%?r%l

Neither 1 nor 2 is implicit.

1 R 2 gaT EuRene dafaka §
Both 1 and 2 are implicit.

| e AR 1 et 2

Only assumption 1 implicit.

x

x

v

Q.15 #g W F 77 3R 9 & vwar F fPOw v & s ¢ o

forms a common passage for both urine and sperms in human males.

Ans m
v SR

Urethra
X2 EE ”iE L
Oviduct

K32 E
Ureter
S EELRER
X2

Vas deferens

FEd |

Question ID : 9864493498
Status : Answered
Chosen Option : 3

Q.16 M =eT & oA @1 Tehe AT Soiagiel ST HIH TEAT Fhaell gidr & ¢

The maximum number of electrons that can be accommeodated in M shell is:

Ans of 118
<22
<38
X 432

Question ID : 9864493253
Status : Answered
Chosen Option : 3

QU7 Prafaf@a & ¥ #ia a1 v vrRefiE siEaEs ¥ 2
Which of the following is an amphoteric oxide?
1 FA SEHTFHISS
Carbon dioxide
, Hehfare seass
Magnesium oxide
s I (1) HTFASS
Iron (IT) oxide
TeAATH HFEEs

Aluminium oxide

Ans

x

W 4

Question ID : 9864493312
Status : Answered
Chosen Option : 2

Q.18 By H ¥ 37 7 & ¥ § 3 3madr SerderT 1 &7

The fraction from the ones listed below that will NOT lead to a recurring decimal is:
Ans x 1 4
56
7

fz.g
K 3

&
56

Question ID : 9864493021
Status : Answered
Chosen Option : 3




a8

P

56

Q19 35 go 3mafe Arfererr & FHEET & A AT g ar F4 g 82
‘What happens as we go down the group in the periodic table?

Ans xﬁ]ﬂﬁrﬁwmmﬁr%

The number of shells decreases
ST gorFE HH @ S ¥
Valence electrons decreases
v T ST TEAT 9T AAr ¢
The number of shells increases
X s AOTF AHR FF g ST &
Atomic size decreases

X2

Question ID : 9864493054
Status : Answered
Chosen Option : 3

N rgm FT AT & ?

What is a tissue?
Ans x 1.
T FINPIT AT A T F FAT Gl 8. W] oy 3R 1 ater # et @it &
Cells which are similar in origin, but dissimilar in form and function
v &)
& BRI T 7707 & &, et 3 3 e ey 3 e et
Cells which are similar in origin, form and function
X 3.
F FIRAFT A1 FeT T 4 o= g1t &, g @t 3R 1 %1 F T 2iel &

Cells which are dissimilar in origin, but are similar in form and function

p
J HIRFT ST H{T T &, GTT 7 3R 1 H & e erdr §

Cells which are dissimilar in origin, form and function

Question ID : 9864493175
Status : Answered
Chosen Option : 3

Q2 Ghey Gwar & 28% T A 35 Bl GEar = 27
28% of a number is 35. What is the number?
Ans o 1.125
< 280
X< 3120
X 4.108

Question ID : 9864492706
Status : Answered
Chosen Option :1

Q.22 5T & 5w 3oae-Td Tew o 2022 F 39F wAw e F A
Teerdy < &2

‘Which north-eastern state of India has signed up to host the 39th National Games in the
year 20227

Ans Ao
v &)
Meghalaya

EzEiress
Mizoram
L

Tripura

X2

Question ID : 9864492430
Status : Answered
Chosen Option : 3




AR
X4 2
Manipur

Q.23

TR AR A s AR sRr =AY
F T FuT g2 B

T AfRET & S gEE §7

T

1. F@rd F 9fd, AfHEr @ AT F gwelar 99 81
2. T @ s HiT AfEar @ 9fy ==Y S #AY A9 (cousin) B

Consider the given question and decide which of the following statements is
sufficient to answer the question.

How Swathi is related to Namitha?

Statements:

1. Swathi’s husband is the only son of Namitha’s mother.
II.  Swathi’s brother and Namitha’s husband are cousins.

Question ID : 9864494277
Status : Answered
Chosen Option :1

Ans ( 1.
Rrar T wm s & RPw aar 1 ar 2 9@ g
Either I or IT is sufficient to answer the question.
X2
T T T2 FT 3o & F T 2 3T Tt &, S9fF 1 3RFaT 9Aa A9
gl
II alone is sufficient while I alone is not sufficient to answer the question.
X 3.
T 71T 927 &1 3o 37 & AT 1 e qdicd &, sfk 2 3par 9aica g
gl
I alone is sufficient while II alone is not sufficient to answer the question.
X 4
o 71T 99 & e &= & T 1 3k 2 a=F 9T &
Both I and IT are sufficient to answer the question.
Q.24 37 oo & I=A HL AT Hpfd & fod == & T sugea
5® P & 2 ¥ Question ID : 9864493915
Status : Answered
@ @ @ Chosen Option : 1
e @ -
~ @ 9
[ - JCW
A B C D
Select the option that correctly fits in the blank space in the given figure.
= @ -
M (C)
L] O]
A B C D
Ans « N
X2D
X3 A
X 4B
Q.25

Question ID : 9864494101
Status : Not Answered




ﬁmﬁf@aqwaﬁfﬁaﬁﬁgﬁsm%mﬁmm(ﬁﬁ)mmﬁll Chosen Option : --

srehtO -3e, raguS -2, tachW -E’IE, Rlec - =m=er

Tl For Seger 9000 T o7 A TS F Feuee B AN oA H F@re
The given pie chart represents the annual yield of certain crops in tons.

If the total production is 9000 tons, then the yield of rice is tons.

Ans 5 1. 2000
X 2.3000
v 31000
X 41500

Q.26 i T ; Y
wed HTpia (erugif melborP)aT STl # &l aTel Wel Yfatas I+ o o - 0381

Status : Answered
Chosen Option : 4

Problem Figure

Answer Figure

A A

Choose the correct water image of the given problem figure.

Problem Figure

Answer Figure

o0e9

Ans X1A



X2C
X 3D
v 4B

Q.27 9rfis AR aeifes & FFAN, T a8 I deEt ® A g
According to an early Indian philosopher everything is made up of

Ans x1_4
X22
x33
V5

basic elements.

Question ID : 9864493327
Status : Answered
Chosen Option : 3

Q.28 frmfafee & ¥ 5w &7 § oeals 3Ty % BT aNa TR @ e
e fow A §7

The Arjuna Awards given by the Government of India is for public achievement in which
of the following fields?

Ans H[%FEI'
b !
Literature

3NAMET

Economics
I IR
3 LY

<2

| Poverty Eradication
o

v 23
Sports

Question ID : 9864492314
Status : Answered
Chosen Option : 2

a2 %,gaﬂtfa:rar.;tr FTT AT

Find the L.C.M aaf"'g , g and ;
Ans X 1.30
X 2 40
V'3 20
X425

Question ID : 9864492603
Status : Answered
Chosen Option : 3

Q.30 Rr=fafae sfcafs & 3= st #r g % o T s R
AT 9% S A8 R

A$1%MB#EENC=3!0D+KP

The number of symbols that are preceded by a letter and not followed by a number in the
following expression is

A$1%MB#H6&NC=3!0D+KP

Ans x1_2
V21
X34
X 43

Question ID : 9864493974
Status : Not Answered
Chosen Option : --

Q.31 fw s 3w + fivw g &9 s e & A S et # shew
F1 T T 37

‘Which Indian author has chronicled the life in the Kumaon hills in the book ‘Things to
Leave Behind™?

Ans

Question ID : 9864492312
Status : Answered
Chosen Option : 1




x 1 oI AT
Shashi Tharoor
x 2 e as
Vikram Seth
o, T aie
Namita Gokhale
x4 AT ST
Anosh Irani

Q.32 gaE BT (Problem figure) 3 #mfr &1 3cat =T (Answer Figures) & &
e v suged e & 939w oqu

Problem Figure

& 4+ 4
ol ?
A S
Answer Figures

L | | | L
BB | F|F
— = — =
1 2 3 4

FaEr =T - Problem Figure
3’ = - Answer Figures

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure

= + I N

oI RQllge P

SRy

Answer Figures

o | | L

BB | |G

= = - =

1 2 3 4
Ans X 1.3

X 21
V2
X4

Question ID : 9864494129
Status : Answered
Chosen Option : 4

Q.33 [t wiF FF FACT F F T, Th Afed F 13,420 F wF a9

ST S WS FHT § 43% FA AT TH W 10% W A g T w5 odw
T it & d=en wfgw wm

To dispose of the old stocks, a person sold a tea-set for ¥ 3,420, which was 43% below the
cost price. In order to make a profit of 10% the seller should have sold the set for ¥

Question ID : 9864492868
Status : Not Answered
Chosen Option : --

more.

Ans 1.7 1,812.60
V' 2 73,180
X 372,580
X 4.72,664.42

Q.34

Question ID : 9864493816
Status : Answered




fET 1T o FF eATEH ¢ 3 aa’ & $HE # 3K & & o
T wuat § @ Sl gwieg 373

oEfas e X, VY, Z, U #k v F & Fiadr 3w d@emw 2

T
1.X, Y, 2, U 3t V &fEw g 8
2. Z faww g B

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘Which of these natural numbers X, Y, Z, U, and V are even numbers?
Statements:

1. X, Y, Z, U, and V are consecutive numbers.
2. Zis an odd number.

Ans «"1_
FueT 1 3T FUT 2 T FY ST AT &

Both statement 1 and 2 together are sufficient

X2
Fel FUT 2 AT § A% FadT FAT 1 AT &

Statement 2 alone is sufficient while statement 1 alone is insufficient

< 3.
FIT FUF 1 I § T FIT FAT 2 JIAT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
x4;na;2rrr1 IR FUFT 2 9T &

Neither statement 1 nor 2 is sufficient

l Chosen Option : 4

Q.35 e wfeRius # ¥ Ry a1 varfed gt & | vk Wi wfatius 7 v F fReraier
FATC TEAT § | T + 3 BT G@NT A1 &7 7 31 T A v g

A current I flows through a resistor. A source maintains a potential difference of V across
the resistor. The energy supplied by the source i time t is:

Ans X1 VI/t
X2VI
X3 VIt?
vVt

Question ID : 9864493165
Status : Answered
Chosen Option : 3

Q.36 To TomRIge T FEUAT 78 °C ¥ SHiead A I JTIAT fShaaT g2Fm
The boiling point of an alcohol is 78 °C. What is the temperature in Kelvin scale?

Ans X 1. 78K
X 2 341K
X3 373K
v 4 351K

Question ID : 9864493128
Status : Answered
Chosen Option : 3

Q37 & 1% FaftT Y F YR W IFIEUT e AL A

Buy : bought ::
Select the missing word pair based on the given related pair.

Buy:bought::
Ans 2 1.Ran : Run
X 2. Sang : Sing
# 3 Tore : Tear
+ 4 Shut : Shut

Question ID : 9864493989
Status : Answered
Chosen Option : 3




Q.38 ors v & wew ufde ==t # § v, de Hew e FFw wer & Rua i

In which city is St. Peter’s Basilica, one of the most famous churches in Christianity,
located?

Ans X1 afeara (Vatican)

Vatican

) foreateT (Lisbon)
Lisbon

v - S (Madrid)
Madrid

. T (Pisa)

Pisa

x

x

Question ID : 9864492132
Status : Answered
Chosen Option : 2

Q.39 & Wy FH FS € IRT A 3T B vF @t & 10 6 H T FEA ¢
SR 4 B¢ °F UH WY HF B 3 BT B F #1F & ag & R o
A FE T a6 T W@ EF A S A Fo 13 B W AT A GENT e
TR &F F WA F A AT EEm?
‘Working together, pipes A and B can {ill an empty tank in 10 hours. They worked together
for 4 hours and then B stopped and A continued filling the tank till it was full. It took a
total of 13 hours to fill the tank. How long would it take A to fill the empty tank alone?

Ans xm 16 .Eit

16 hours
13 5
13 hours
15 g&
15 hours
12 g
12 hours

X2

v s

< 4

Question ID : 9864492972
Status : Not Answered
Chosen Option : --

Q.40 IfE x2 + ax + b P T (x- 1) ZIRT HAFT TRAT ST & oY 15 99 g &
AT 22 + bx + a B (x + 1) IR AW R S § A -1 99 T B
a’ + b* H AT FT §:

When x? + ax + b isdivided by (x — 1) , the remainder is 15 and when x? + bx + a
is divided by (x + 1). the remainder is — 1, then the value of a® + b? is:

ans X120
V210
X316
X8

Question ID : 9864492997
Status : Answered
Chosen Option : 3

Q41

Question ID : 9864494118
Status : Answered
Chosen Option : 2




Ans

e fGF TIT e F Fed A §U AF A B o U 3 IR O HieT |
Ty Af¥aa w9 @ Rerar s gar 2

FU:
e S e § i ent & #les # g8 e sudey 76 2 &

TArne:

1. dreit A weg & =ifew fF enrt ¥ d@tew F 3 amr A w1
2. §TIT F TieT F o cEnt & #uw # s § saer a6t fr ceer
w

Consider the given statement true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

People complain that bus tickets are not available during festival seasons.

Conclusions:

1. People should be advised not to travel during festival seasons.
2. The government should bring in more busses during festival seasons.

foF e 1 37aor #ar g

Only conclusion 1 follows.

X 2
o ey 1 3R & & e 2 agERor w2

Neither 1 nor 2 follows.

% sy 2 3feETor FEar gl

Only conclusion 2 follows.

X frd 1 T 2 g1 gEr #a g
Both 1 and 2 follow.

F !

W 3

x

Q.42 37y FaFeT #1 AT SEET @ AT § o g an e g S 7 3w

Ans

T FROT T AT §

If the resistance of a conductor is doubled, the current gets halved. This is because:

X1.I=§n

X2] =V-R

X 3] =VR
o

Question ID : 9864493326
Status : Answered
Chosen Option : 4

Q43 a1 & UdT T F T AfHaEs S = Feg §2

Ans

What are the receptors for detecting taste called?
&)
&S 3feags (Gustatory receptors)
Gustatory receptors
X2
gToT 3f&mEs (Olfactory receptors)

Olfactory receptors
X3

Question ID : 9864493056
Status : Answered
Chosen Option : 4




Hafceh 3fAaEs (Sensory receptors)
Sensory receptors

X 4
Tarafas 3fHamgs (Chemical receptors)

Chemical receptors

Q.44 S5 F= & 9 ST (Problem figure) & WA HEaT @ A o fw 71w =
fawent & (Answer Figures) & & wea ofy & war adur =fy =g o gefr 2

s, |
L a0

Choose the correct mirror image of the problem figure when the mirror is placed to the
right of the figure.

Problem Figure

oy

16040
Y A Y
VoA
< 3D
P RN e

Question ID : 9864493835
Status : Answered
Chosen Option : 2

Q.45 T F 39 & F a0 & FgA 17 1 8 § Fafh aer AR @ &
HAAA 6 : 17 &1 Ts0r & W9 & Wiy @ F1 F= AU 72

The ratio of sand to gravel in a mixture is 17 : 8 while that between gravel and cement is 6
: 17. What is the ratio of sand to cement in the mixture?

Ans 1.3 - 4
X217 - 17
<3289 : 48
X4+8:6

Question ID : 9864492986
Status : Answered
Chosen Option :1

Q.46 wTEl 2018 &, TSI & FEUHAA HiT §, ST AENA F g FEAAA o §?

As of February 2018, who is the Chief Minister of Telangana, who is also the first Chief
Minister of Telangana?

Ans m %ng-fr
r 0
Kadiyam Srihari

¥. TEIER 1T
K Chandrasekhar Rao

s & g
T Rajaiah

W2

Question ID : 9864492167
Status : Answered
Chosen Option : 2




;. T AL
Chandrababu Naidu
Q.47 Frasiffs TecaTEuTT Hiecee (G) & AT & W A% GanT & TS

Question ID : 9864493579
Status : Answered

e, TR T orafeY et
1.

The value of universal gravitation constant (G) was determined by:

Antoine L Lavoisier
vz &I Shdfeser
Henry Cavendish
x s It e
Isaac Newton
Sl Slecs
John Dalton

X 4

Q.48 zfy % a5g =2 ¥ & TR U F AN AR AN F ¥ FEE = FAT : )
A Y, G v faeT F ¥ PR aERT R o i Question ID : 9864493320

Status : Not Answered
If a body takes ‘t* seconds to go once round the circular path of radius ‘r’, the velocity v’

is given by: Chosen Option : --
Ans t
Xiv=-"
2nr
nr
X2v=—
ris
nr
t

t

Q.49 F=r T T FHERT & UF & % B 2 et @ afoenfe & R s

~ ; - e o & = Question ID : 9864494096
Status : Not Answered

Chosen Option : --

B+3x6-4+2=4x3-10+2+7

In the given equation, LHS = RHS only when we interchange numbers on the
same side.

5+3%x6-4+-2=4%x3-10-2+7

Ans
X1_43ﬂ¢?
4and 7

x5 A2
5and 2
x . 3T
Jand 7
v 834
6 and 4

Q.50 Ea) EX e Haad ECir ol #r
T H P A TS, T e S Question ID : 9864493564

Ty &1 qar aeme?

: " . : — Status : Answered
Find the position of the image formed by a concave mirror when the object is placed
between P and F? Chosen Option : 3

Ans X1 FARCF T
Between F and C



X2 CHaE
Beyond C
s AT W
At infinity
., TS

Behind the mirror

Q.51 gfy 123 x 356 =43788 @ @ 1.23 x 0.356 FT AT FAT FM?
If 123 x 356 = 43788, then 1.23 x 0.356 =2

Ans X 1. 4.3788
< 2.0.043788
V'3 0.43788
X 4.437.88

Question ID
Status

Chosen Option :

19864492740
:Not Answered

Q52 3 a1T FERE FIA & IR W I 98 F 99T B

MAKING : KGMANI :: CAPETO :

Select the missing term based on the given related pair.

MAKING : KGMANI :: CAPETO:
Ans 1. POACTE

& 2. POCAET

v 3 POCATE

#< 4 POTECA

Question ID
Status

Chosen Option :

19864494040
:Not Answered

Q.53 31T epeT SiSeRITECT HRUNRNA & &7 HEepA 'Faifesr 7 @i o Jfag
AT HE= = e e 22

‘Who is the famous Indian actress who stars in the *Quantico’ TV series on American
Broadcasting Corporation?

Ans aﬁaﬂ- q-l?’ﬂ-m-
r 0
Deepika Padukone
) Ryzr=rr =g=r
Priyanka Chopra

Question ID :9864492301
Status : Answered

Chosen Option :2

Q.54 e oS FIFIT B IG: 5 T Todll & HIT AR 3 a1 AT g 8| TF e
Yol SeTElT & W 7 St I § AR T 5 a9 Feie TgEa §1 S et
3T H e e §2 A e 2T it v g e T T T W

A Train leaves Kazipet at 5 a.m. and reaches Bangalore at 3 p.m. Another train leaves
Bangalore at 7 a.m. and reaches Kazipet at 5 p.m. When do the two trains meet? Assume
that the trains travels at equal uniform speeds.

Ans - 11
v CIG)

- 11 a.m.

Question ID : 9864492570
Status : Not Answered

Chosen Option : --




- 10
x 2 IS
10 a.m.
X3 aeT 12
12 noon

4.&‘43'{1

1 pm.

x

Q.55 7@ freT @ =@ W, S & T B gwer # @ ' @ oaa F e

Ans

T9gFT § |

o+ |+
.

LI 4

.-+ X
+
+

? + o+

.. .. .

.+ x

Select the option that will correctly fit in the blank space in the given figure series.

+
+
+
+
+
+

.+ %
.+ %
)
+
.+

X

+

<2

+ %
+ X

v &3

+ X

< 4 +

Question ID : 9864494212
Status : Answered
Chosen Option : 3

Q.56

Ans

wES 2018 B, Yeee $r smdiva & WA TSy REUEE & Afes Hi 87

As of February 2018, who owns the Hyderabad-based IPL team ‘Sun Risers Hyderabad®?

«1_mr1?|ﬁ:rnn?r

Question ID : 9864492159
Status : Answered
Chosen Option : 2

Kalanidhi Maran
Chandrababu Naidu
T

 Chiranjeevi
, S Ffethel T

Deccan Chronicle Newspaper

x

K3

x

Q.57

Question ID : 9864494033
Status : Not Answered
Chosen Option : --




wesT forT (Problem figure) T 3cat frsT (Answer Figures) 7 & 39g#a
e & @y 9@ &1

Problem Figures

Ul
R B3]
RSE

Answer Figures

A B C D
Complete the Problem Figure with an appropriate option from the Answer Figures.

Problem Figures

dRYEe
S|
PJE

Answer Figures

A B C D

Ans \,1B
X 2D
X3 A
X4C

Q.58 T W R st it g st & qEuRuTHE # ¥ w9 o @A
gﬂé * TET Question ID : 9864493934
Status : Not Answered
gfFa: Chosen Option : --

it wEfat Fr ST gear 9uE T Bl

Tdemom:
1. ¥a 3USATH F 9SAT g ¥
2. o2l off S # Fo 3 e THE @ e

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

All girls love reading novels.
Assumptions:

1. Novels are the only reading materials.
2. No girl loves to read other materials.

Ane X11ﬁh2aﬁq§mmﬁa§|

Both assumptions 1 and 2 are implicit.
| e Jaeren 2 fAfed ¢

Only assumption 2 is implicit.
| e o 1 fafea &

Only assumption 1 is implicit.

A_Era’HsﬂT;r?rzﬁr%?r%l

Neither assumption 1 nor 2 is implicit.

x

X

v

o il T i E Question ID :9864492471
¥ afy s G F FFHT TH Jed AU A L, & Jed P ST oo uestion ID :

&R (@ =27£ T ) Status : Not Answered
Chosen Option : --

A copper wire when bent in the form of a square encloses an area of 121 cm?, If the same

wire is bent into the form of a circle, find the area of the circle: (Use rri:)



Ans 150 F=T GaredreT
150 cm?
153 T d&HT
153 cm?
154 F=7 GardeT
154 cm?
155 FT FErHeT
155 cm?

X2

W 3

r 8

Q.60 37 ferew R &1 997 H o e By AR & a1 ameem

T 2 |
F [ & [

A B C D
Select the option that would come next in the following figure series.

o 2 |
F [ & [

A B ¢ D
Ans X1 D

v2C

X3 A

X 4B

Question ID : 9864494380
Status : Not Answered
Chosen Option : --

Q.61 2r ==Y sTsAT F TIAT H F AT 46 I ¥ IS T Tgol, qF T,
T T WY F RN o T N S TS g Fw

The sum of the present ages of two cousins is 46 years. Eight years ago, the elder one was
twice as old as the younger one. What is the present age of the elder cousin?

Ans
X, 30 I
30 years

28 I

28 years

26 T§
26 years

22 T¥
22 years

v )

X 3.

X 4

Question ID : 9864492872
Status : Not Answered
Chosen Option : --

Q.62 v5 RN & IfEE Toaa F ggae o o3, oo A ufeaat S W F
Fo BTl & AaA ¥ o= A 87

Identify a type of asexual reproduction which involves reproduction through parts of a
plant such as roots, stem and leaves?

Ans (1_

Question ID : 9864493057
Status : Answered
Chosen Option :1




aaEIde Usia-(Vegetative propagation)
Vegetative propagation

fa@s=T (Fragmentation)
Fragmentation

X HUL3T &l fqaATet (Fission)

Fission

HehelsT (Budding)

| Budding

X2

x

K4

63 St
Q.63 ey 2018 HT Hia o AT F EACLR grem? Question D : 9864492554

On which dates of December, 2018 will be Wednesdays? Stafus Not Answered
Chosen Option : --

Ans 1.4, 11,18 AT 25
X 26,13, 20 3T 27
X 3.3,10,17 3T 24
V4512, 19 3T 26

Q.64 w,x,y 3 z 3RE FA F Zaffed a7 @ §l T F O ean aganst & )
ST 18 & STt T e FEAT AT St 22 31 3w 1 R T 32 CRERi ([DEL AP IA L)
Four numbers, when arranged in ascending order, are w, x, y and z. The average of the Status : Not Answered

smallest three numbers is 18, while the average of the largest three was 22. What is the Chosen Option : -
range of the data?

Ans x 1.10
X211
V312
X 413

Q.65 &1 ufeear &, AIE ST $T U FHifeT g@rr Wi fhar ST §

In the process of , the iron is protected by a coating of zinc.

Question ID : 9864493631
Status : Not Answered

Ans x1 ﬁﬁlﬁﬂé (g[’BHS]Ilg) Chosen Option : --

greasing
v JealATS2l (galvanization)
| galvanisation
s fASRITGERIT (alloying)
alloying
x4 TAESIST (anodizing)
| anodising
Q86 7R tan0 = 2, & p F A T geM? M0 E Question ID : 9864492576
If tand = % then find the value of p such that tan:if;w = % Status : Not Answered

Chosen Option : --

Ans x 1. 50

275
2 3.100



X 425

Q.67 2w =Iv 3 3N H FiT & T 38 F & Aeed & @ § o &

o s ¥ AR PP Question ID : 9864493812
Status : Not Answered

Coach Chosen Option : --

—— Players

Girls- #I=fFar Coach- H=r Players- T&emsr

In the following Venn diagram which region represents the coach who is also a player but
not a girl?

Girls Coach

—— Players

Ans X1_R
<2U
vaT
X4S

Q.68
1 ? 3 Question ID : 9864492564

Status : Not Answered

o 37 A HITeTT, g ST 70T 11 313 & e G 1

1 ? 3

Find the missing digit if it has 11 and 13 as factors?
Ans X 1.2
X238
X36
vaa

Q.69 1 1
'-'Jlﬁ a——=1 ET Eﬂ' a’ + — ? Question ID : 9864492856
a a
Status : Not Answered
Ifa— 1 — ]_: then a2 + iz =7 Chosen Option : --
a a

Ans x12
X 21
v 3
X 44

Q.70 $SM@A#N2B40&3C5P+D2

R BT sq@e F EEH adRT B FiA § R e wHg e a8 & SRR LS SR o)
Status : Not Answered

AO+, MB5, N32, $2P Chosen Option : --

SM@A#N2B40&3C5P+D2
Using the above sequence find the characters that do NOT belong to the group:

AO+, MBS, N32, $2P

Ans X 1. N32
V2 $2P
X s MB5
X+ AO+




Q.71 & =1 Fa=g W =R # ik a7 = & & 7 Aemanst 7 @ Fa @

Ans

Rt @)

AT

oUTH T F FET 2, "&hﬁa:raa:qgﬂ#asraﬂﬂgmaﬂtmésmmﬂ
all

AT

1. T ST T T FA THE AT B
2. 9UTH &I W9l # Hellg &= &1 gl 2l

Consider the given statement and decide which of the given assumption(s) is (are) implicit.

Statement:

Shyam tells Gita, “The ways to reach Sri Lanka is through air and water™.

Assumptions

1. Gita likes to travel to Sri Lanka.
2. Shyam is fond of advising people.

1 Fao AT 2 RAfga g
Only assumption 2 is implicit.
|1 3R 2 2=t fafea &
Both assumptions 1 and 2 are implicit.
1 3k 2 2=t fafea @@ 8
Neither assumption 1 nor 2 is implicit.

4_aﬁ|ﬂmﬂm1ﬁ|‘%ﬁ%l

Only assumption 1 is implicit.

x

v

x

Question ID : 9864494220
Status : Not Answered
Chosen Option : --

7 3249 F T T &

Ans

The square root of 3249 i1s:
< 1.63
v 2. 57
# 359
X 467

Question ID : 9864492883
Status : Not Answered
Chosen Option : --

Q.73 v eafda e WA =16l 3 - =1 ¥ ol W 15 e &l & g ¢ su g

Ans

T F H 3T I RO A T AT TET A

Travelling at Eth of his usual speed, a man is 15 minutes late. What is his usual time to
cover the same distance?

x 115 e
15 minutes
45 fB=1e
45 minutes
v &) 1 &feT

1 hour

75 A=

75 minutes

X2

X 4

Question ID : 9864492510
Status : Not Answered
Chosen Option : --

Q.74

Mol &1 Tgell [aT=iel a9 H gam o

The first Partition of Bengal took place in the year

Question ID : 9864492103
Status : Not Answered




Ans
1 1904 ggar
1904 AD

v 1905 sgaT

1905 AD

x5 1903 &gt

1903 AD

x4 1906 T

1906 AD

Chosen Option : --

Q.75 37T a1C gy F O P TS F UF cAfFd I gidfaa ofer F Gmar § &
9T g0 g1 7 §1 ug A 7 ¥ G g & T 87

A person holding a pen in his left hand sees his reflection in the mirror holding the pen in
his right hand. This is due to which of the following phenomena?

Ans x1_
el JTANE Fidfea (Total intemal reflection)

Total internal reflection

, BIEE] <ok AUT (Lateral inversion)

Lateral inversion

Question ID : 9864493403
Status : Not Answered
Chosen Option : --




